Grizz
Industrial, inc. ®
MODELS G0637 & G0638
7> & 10 HP CYCLONE

DUST COLLECTORS
OWNER'S MANUAL

(For models manufactured since 04/12)

LA L
‘B'O

us
201825 Model G0637 Model G0638

COPYRIGHT © MARCH, 2007 BY GRIZZLY INDUSTRIAL, INC. REVISED APRIL, 2012 (KN)
WARNING: NO PORTION OF THIS MANUAL MAY BE REPRODUCED IN ANY SHAPE
OR FORM WITHOUT THE WRITTEN APPROVAL OF GRIZZLY INDUSTRIAL, INC.
#TS8762 PRINTED IN TAIWAN

Download from Www.Somanuals.com. All Manuals Search And Download.




A\ WARNING!

This manual provides critical safety instructions on the proper setup,
operation, maintenance, and service of this machine/tool. Save this
document, refer to it often, and use it to instruct other operators.

Failure to read, understand and follow the instructions in this manual
may result in fire or serious personal injury—including amputation,
electrocution, or death.

The owner of this machine/tool is solely responsible for its safe use.
This responsibility includes but is not limited to proper installation in
a safe environment, personnel training and usage authorization,
proper inspection and maintenance, manual availability and compre-
hension, application of safety devices, cutting/sanding/grinding tool
integrity, and the usage of personal protective equipment.

The manufacturer will not be held liable for injury or property damage
from negligence, improper training, machine modifications or misuse.

A\ WARNING!

Some dust created by power sanding, sawing, grinding, drilling, and
other construction activities contains chemicals known to the State
of California to cause cancer, birth defects or other reproductive
harm. Some examples of these chemicals are:

e Lead from lead-based paints.
e Crystalline silica from bricks, cement and other masonry products.
e Arsenic and chromium from chemically-treated lumber.

Your risk from these exposures varies, depending on how often you
do this type of work. To reduce your exposure to these chemicals:
Work in a well ventilated area, and work with approved safety equip-
ment, such as those dust masks that are specially designed to filter
out microscopic particles.

Download from Www.Somanuals.com. All Manuals Search And Download.




Table of Contents

INTRODUCTION......eemmmmrrrrrssssnnmmnnsnssnsssssnmnnnns 2
Manual ACCUFaCY ........ccvevvviiiiiiiiiiiiiiiieeeeeeeee 2
Contact INfo....ocociiiieee e, 2
Machine Description ..........cccccceveeiiiiiiieeeeeeenn. 2
Identification ..., 3
Glossary Of TErMS.....coovvvvveevieviiieiieeiieeeeeeeee, 4
G0637 Machine Data Sheet ...........cceuueneeeen. 5
G0638 Machine Data Sheet ............cccueeeeee. 7

SECTION 1: SAFETY ....cciririiinissemnnnssssnsssnas 9
Safety Instructions for Machinery .................. 9
Additional Safety for Dust Collectors........... 11

SECTION 2: POWER SUPPLY .....cccccmmrrrrrnnnns 12

Availability........coooviiiiiiii 12
Full-Load Current Rating.........cc.cccvveeenee. 12
Circuit Information ...........ccccoviieeieeiiinnee. 12
Circuit Requirements for 220V .................. 12
Circuit Requirements for 440V .................. 12
Connection TYPE ....evvevveeeeeeeeieeeeeeeeeeeeeeeee 13
Grounding Instructions ............ccccceviineene 13
Extension Cords .........ccccvveeeeeeeeiicciiieeeennn. 13
Phase Converter.........ccccooeeeeeeeeicciiieeeennn. 13
Model G0637 440V Conversion................ 14
Model G0638 440V Conversion................ 14
Correcting Phase Polarity.........cccccoouneeee. 15

SECTION 3: SETUP .....ceerrrrrrrinsneemnnn s 16
Needed for Setup.......cooccvvveeeeieiiiiiieee. 16
UNPAaCKiNg ......cuvemeeiieiiiiiiieeeee e 16
INVENTOTY . 17
Hardware Recognition Chart ....................... 19
Site Considerations..........cccceeveeeeiiiiivieeeennn. 20
Mounting to Shop FIOOr ..........ccceiviiiiiiaee. 21

Bolting to Concrete Floors.............cccceu..e. 21
ASSEMDIY ..o 21
Power Connection...........cccceeeeeiiiiiiieineennnnn. 31

G0637 Power Connection ..........ccceeeeeueneee 32

G0638 Power Connection ..........cccceeeevneeeee 32
Test RUN ... 33

SECTION 4: DESIGNING THE SYSTEM....... 35
GeNEral....ccceeeeiiieeee e 35
Duct Material..........ccooooviiiiiiieieiiiiiiin. 35

Metal DUCt ......coooeiieie e 36

Flexible DUC.........ccoovviiiiiiiiieee e, 36

System Design.......cccvvviiiiiiiiiei e 37
Step 1. Decide Who Will Design................ 37
Step 2. Sketch Your Shop Layout............. 37
Step 3. Sketch a Basic Duct Layout.......... 37
Determine Required CFMs........................ 38
Determining Main Line Duct Size.............. 39
Determining Branch Line Duct Size .......... 39
Planning Drop Downs..........ccccceeeiiiiininnnen. 40
Calculating Duct Resistance ..................... 40
Example Materials List .........ccccccoiiiiininnnen. 42

System Grounding ........cccceeeeiieereiniiieeeee 43

SECTION 5: ACCESSORIES........ccccoceumnrnnnee 44
SECTION 6: OPERATIONS .......cccccrriumnernnns 46

Operation Safety........ccccocceeiiiiiiieiiieeeee 46

General ......occueeiiie 46

Remote Control..........ccceeiiiiiiiiiiec e 46

SECTION 7: MAINTENANCE...........ccccecnrnee 47

Schedule.........oovvveevveiiiiiiiiii e 47

Emptying Drums ..., 47

Cleaning Filters........cccoociiiiiiiiieceee 47

Rinsing Filter ... 48

Removing/Replacing Filter..............cccooeeee. 48

SECTION 8: SERVICE ........ccccnvimmirriennnnnns 50

Troubleshooting ........cccceevviiiiiiiiiiiec e, 50
Motor & Electrical ..........ccccoovveeeiiiiiiiiinn. 50
Dust Collector Operation .............ccccuvvveeeee. 51

SECTION 9: WIRING.........ccocmrrinmnrrnnannennnas 52

Wiring Safety Instructions............cccccooiieeen. 52

G0637 Electrical Components..................... 53

G0637 Control Box Wiring Diagram............ 54

G0637 Motor Wiring Diagram............cc..ee.... 55

G0638 Electrical Components..................... 56

G0638 Control Box Wiring Diagram............ 57

G0638 Motor Wiring Diagram............c.c....... 58

SECTION 10: PARTS.......cccocmmrrenernnnannnnnes 59
WARRANTY AND RETURNS..........cccccemrineee 65

Download from Www.Somanuals.com. All Manuals Search And Download.



INTRODUCTION

Manual Accuracy

We are proud to offer this manual with your new
machine! We've made every effort to be exact
with the instructions, specifications, drawings,
and photographs of the machine we used when
writing this manual. However, sometimes we still
make an occasional mistake.

Also, owing to our policy of continuous improve-
ment, your machine may not exactly match the
manual. If you find this to be the case, and the dif-
ference between the manual and machine leaves
you in doubt, check our website for the latest
manual update or call technical support for help.

Before calling, find the manufacture date of your
machine by looking at the date stamped into the
machine ID label (see below). This will help us
determine if the manual version you received
matches the manufacture date of your machine.

El’l'llg MODEL GXXXX

Industrial ®

SPECIFICATIONS |

Motor:
Specification:
Specification:

Specification:
Specification:
Weight:

6.

l:l pate 7. DO NOT remove safety guards.

l:l Sorial Number g Never leave machine running unattended.
1

. DO NOT operate under the influence of drugs or alcohol.
0. Maintain hi fully to prevent acci J

MACHINE NAME
ing this machine:
Manufacture Date [opertion
of Your Machine [ savins
power before adjustments, maintenance, or service.
5. DO NOT expose to rain or dampness.

A\ WARNING!
s and respirator.
4. TWIaKe SUTe e motor ias stoppea and
. DO NOT modify this machine in any way.

Manufactured for Grizzly in Taiwan

-

For your convenience, we post all available man-
uals and manual updates for free on our website
at www.grizzly.com. Any updates to your model
of machine will be reflected in these documents
as soon as they are complete.

A

Contact Info

We stand behind our machines. If you have
any questions or need help, use the information
below to contact us. Before contacting, please get
the serial number and manufacture date of your
machine. This will help us help you faster.

Grizzly Technical Support
1203 Lycoming Mall Circle
Muncy, PA 17756
Phone: (570) 546-9663
Email: techsupport@ grizzly.com

We want your feedback on this manual. What did
you like about it? Where could it be improved?
Please take a few minutes to give us feedback.

Grizzly Documentation Manager
P.O. Box 2069
Bellingham, WA 98227-2069
Email: manuals @grizzly.com

Machine Description

The Model G0637/G0638 is a 2-stage cyclone
wood dust collector capable of collecting dust
from multiple machines running simultaneously.

Cyclonic action separates the heavy dust and
chips from the fine particles and drops them
into the steel collection drum. Any remain-
ing fine dust travels past the impeller and is
trapped by the pleated cartridge filter made
of spun-bond polyester. With the use of the
cable and pulley system on the outside of the
filter assembly, the caked dust is forced down
into the collection bag.

The machine is controlled directly by the
magnetic switch mounted to it or by the IR
remote switch—each control includes timer
options.

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



Identification

Blower Housing

Inlet Port

E

| ole ‘r.i..".’.‘ [

..:i
'..at'tDQQ

|Cyclone Funnel

Junction Box

Control Box

Collection Drum
w/Coaster

|Vacuum Hoses|

Noise Muffler

Canister Filter
Brush Handle

Canister
Filter Assembly

Figure 1. Identification (Model G0637 shown).

AWARNING

To reduce the risk of
serious injury when using
this machine, read and
understand this entire
manual before beginning
any operations.

Model G0637/G0638 (Mfg. Since 04/12) ?

Download from Www.Somanuals.com. All Manuals Search And Download.



Glossary Of Terms

The following is a list of common definitions, terms and phrases that relate to dust collection and dust col-
lectors in general. To get the most out of this manual, familiarize yourself with these terms before reading.

Air Suction Capacity: The maximum volume
of air (rated in CFM) that a dust collector can
move, at the inlet, when fully assembled and
not connected to any ducting.

Branch Line: A secondary length of duct that
connects a dust-producing machine to the
Main Line of a permanent dust collection sys-
tem. The minimum recommended Velocity for
branch lines is 4000 FPM.

Collection Bag/Drum: The part of the dust col-
lector that holds the majority of captured dust.

CFM (Cubic Feet per Minute): A measurement
describing the volume of air that moves through
an area in one minute. CFM = Velocity (FPM) x
Cross-Sectional Area of Duct (ft.?).

Cyclone: A type of two-stage dust collector that
uses centrifugal force to remove large dust par-
ticles before they can reach the filter.

Duct (Ducting): Metal/plastic pipe or hose that
connects the dust collector to dust-producing
machines. Typically available in rigid or flexible
options.

Dust Collection System: The entire assembly of
dust collector, duct, and fittings used to capture
dust from machines.

Dust Port/Hood: The part of a dust-producing
machine that connects to dust collection duct.

Filter: The part of the dust collector that prevents
the majority of suctioned dust from returning to
the shop environment. Filters are rated by the
size of fine dust (measured in microns) that can
pass through them.

Fittings (Y's, T's, Elbows, etc.): The various
duct connections that allow the branch and
main lines of a dust collection system to be
routed from the machine to the dust collector.

Duct Grounding: A method of using bare wire
with plastic duct to safely dissipate static elec-
tricity buildup during operation.

Main Line: The primary length of duct that con-
nects the dust collector to the branch lines of
a permanent dust collection system. The mini-
mum recommended Velocity for main lines is
3500 FPM.

Machine CFM Requirement: Indicates the mini-
mum amount of airflow required at the dust port/
hood of a dust-producing machine for adequate
removal of the waste produced. Essentially, the
performance required by the Dust Collection
System after accounting for the drop in CFM
from the static pressure loss of the duct line
between the machine and the dust collector.

Powered Air Filter: An independently operated
machine that removes fine dust suspended in
the air. Typically operated during and after dust-
producing operations as a secondary method
to improve the air quality in a shop.

Single-Stage Collector: A type of dust collector
where all collected chips and dust are expelled
directly into the filter.

Static Pressure: Expressed in units of inches of
water, this describes the difference in pressure
between the air inside and outside the dust col-
lector. It is a measure of the suction created by
the blower.

Two-Stage Collector: A type of dust collector
where large/heavy waste is captured in a sepa-
rate container before the airflow reaches the
filter. Benefits include longer operation times
between filter maintenance or replacement.

Velocity: The speed of airflow movement, mea-
sured in FPM (Feet Per Minute). Velocity =
Volume (CFM) / Cross-Sectional Area of Duct
(ft.2).

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



~ C
brizzly "“°de™

Industrial, inc.
Customer Service #: (570) 546-9663 - To Order Call: (800) 523-4777 - Fax #: (800) 438-5901

MODEL G0637 7-1/2 HP 3-PHASE CYCLONE DUST

Product Dimensions:
L ATL=1 oo L PO PEP O TPPR 712 Ibs.
Width (side-to-side) x Depth (front-to-back) x Height............c.cooiiiiiiiiieie e 76-3/4 x 59-3/8 x 137 in.
Footprint (LENGTN X WIAEN)......oiuiiiiiie ettt s e st e e nte e s beeeanbeeenn 77 x 60 in.
Shipping Dimensions:
Carton #1
LI/ L OO PO PRRPRR Wood Crate
L0001 (=T o | OSSO Machine
LA T | | TR PP RO 789 Ibs.
Length X Width X HeIGht........coii e 91 x 39 x 43 in.
Carton #2
1Y/ o 1= PSP P RPN Cardboard
(070701 (=T o | SRS Filter 1
L AT = e o O PRSP URPRUPPPRPIN 57 Ibs
Length X Width X HEIGht........ooiie e 57 x 23 x 23 in.
Carton #3
1Y/ o 1= SRR Cardboard
(070011 o | OSSR Filter 2
LAV =T e o O PRSP PPPPPPPPRPN 57 Ibs
Length X Width X HEIGNT........ooiie e 57 x 23 x 23 in.
Electrical:
Full-Load Current Rating..........eeie oottt e e e e naeee e 25A at 220V, 12.5A at 440V
MiINIMUM CIrCUIE SIZE.....oeeeeeeeeeeee ettt e e e et e e e e e e e e aeaeeaes 50A at 220V, 20A at 440V
SWITCR .. Magnetic Switch with Thermal Overload Protection
SWILCR VOIAGE. ..ttt b ettt b e bt skt e et e bt e bt e sbeeebeenab e et e e neenne e 220V
[ (0T TN T o7 1o =T O PRSPPI No
Recommended Plug/OULIEt TYPE......couiiiiiieeiiie ettt Hardwire w/Locking Switch
Vo] = Ve T 00 01V =T 1T o N L TSP P0637119V2
RecommeNnded Phase CONVEIMET . ........ciuiiiiie ettt ettt ettt ettt e et e e st e e snb e e nnbeennneeesnnee s G5845
Motors:
Main
I3 L= PO PR PURT PRSP TEFC Induction (Class F)
L (oL £=T=T oL 1= RSP P RPN 7.5HP
[V o] 2= T 1= TSP TPPPP 220V/440V
[ (=T =To B PP U PSP PPPPPPN 220V
[ T T T PP PP PP TUPPPN Three
Y201 01U TR PR 25A/12.5A
] 0 1T=T o OO RRO PRSPPSO 3450 RPM
(0371 T TSP U PR OPPR 60 Hz
NUMDET OF SPEEAS. ...ttt h e et e e et e ae e e bt e et et e at e e e ne e e e be e e enne e e nn s 1
POWET TIANSTEI ..ottt e e et e e e e et e e e e ennt e e e e e anneeeaeeennneaeeann Direct Drive
BBANNGS. .ttt Shielded and Lubricated
Model G0637/G0638 (Mfg. Since 04/12) E

Download from Www.Somanuals.com. All Manuals Search And Download.



Main Specifications:

Operation
DTV TS @01 1=To1 (o] g Y/ o =TSO O PP PR USSP Cyclone
L1 1Y/ o 1= TP PP P TPPPPTRRNE Pleated Cartridge
F N o) A OF=T o - Te7 1§/ PSPPI 3468 CFM @4.3 in. S.P.
N S Y e LA (ol o (YT TV | (Y R 14.73 in.
=T L ] 0 = SR 10 in.
Maximum Material Collection CapaCity.........ccciouiriiiiiiiiiie e 20 cu. ft.
Canister FIFation........cooiiiiie e e 0.2 - 2 micron

Bag Information

NO Of LOWEE BAGS. ...t et e s s s e e e s be s s e e e s e e s ne e saeeene e 2
oY g = F= ol 02T o F- ol | Y2 PSPPSR 2.9 cu. ft.
LOWET BagG DIGMELEN..... ..ottt e ettt e e e et e e e e e e b e e e e e e s nnr e e e e e e aannee 22-7/16 in.
1T g = 7= o =T g T 11 TSP SPRR 26-3/4 in.

Canister Information

[N o) 7= 10 1151 (=T gl i1 (=] = TR 2
CaniSter FiltEr DIAMEIEN........ccce et e e e e e e e e e e s e e e bbb e b a e s e rereereeeeaeeeaeeneeas 19-11/16 in.
(O 1a1 ] (=Y gl 1 Y gl =T T | 1 o SRR 47-1/4 in.
FIItEr SUIMACE ATBQ....c. ittt et ae e st sbe e eane e sbe e eneenneeens 261 sq. ft.
(0] 1 1Yo i o) o I B LU 0 4 STV TR 8.5 cu. ft.

Impeller Information

L] o111 =T gl Y7o T PSSP PP Radial Fin
IMPEIIET SHZE...... ittt ettt e ettt e e bt e e e sabe e e s bte e e beeeeanbeeesneeesanbeeeanbeeenans 18 in.
IMmpeller Blade ThICKNESS. ........viiiieieiee e e e s e e s e e e e e e s nnneeeas 3/8 in.
Construction
[T g = 7= T ST PT ST SPRP TR Clear Plastic
(O 101 S] (=] ST PP PU P OPPPTP Spun Bond Polyester
T 1 T PSRRI 16 Gauge Steel
2= 0 11T OSSP PPR 13 Gauge Steel
1] o111 =T PP RPN Steel, Riveted
[ UL | O PP OP PP PUPPPTRPPR Powder Coated
BIOWET HOUSING. ... ittt ettt st e ettt e e st e e s ab et e e snb e e e ebeeesnneeesaneeean 11 Gauge Steel
T o OO P PR PR 16 Gauge Steel
(0701 11=To1 (o] ol D1V 4o O PSPPSR Steel
Other
Height With Bags INflated............ocoiii e 131 in.

Other Specifications:

(SO 0L 0 I - Uo7 (o] YT PP PSP PPPTRO Yes

07010414V @ ® I¢Te [ o T T PP PP ORPR Taiwan

L A= T = L0 1 PP PT R OPRRPRR 1 Year

Serial NUMDEI LOCALION .....ooiiiiiiiiii e Data Label on Machine

Customer ASSEMDIY & SEIUP TIMIE ....viiiiieiiiiieeee ittt ettt b et esbe e s e e saeesan e e seneeaneenane s 3 hours

S0 g el ST 11 o EO TP PRSP PR PPTPUPRPRTPPI 84 - 88 dB
Features:

Ramped Inlet Maximizes Dust Flow into Collection Drums

Steel Collection Drums with Casters for Easy Dust Disposal

Remote Controlled Magnetic Switch

Class "F" Motor

Dual Pleated Filters with Cleaning Brushes to Maximize Air Flow

Standard Equipment Mufflers Reduce Noise Level without Reducing Air Flow

E Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



~ C
brizzly "“°de™

Industrial, inc.
Customer Service #: (570) 546-9663 - To Order Call: (800) 523-4777 - Fax #: (800) 438-5901

MODEL G0638 10 HP 3-PHASE CYCLONE DUST

Product Dimensions:
L ATL=1 oo L PO PEP O TPPR 758 Ibs.
Width (side-to-side) x Depth (front-to-back) x Height............cccoviiiiiiiiii e 76-3/4 x 59-7/8 x 139-3/8 in.
Footprint (LENGTh X WIAEN)......couiiiiiie ettt et e et e e nte e sbeeeanbeeenn 77 x 60 in.
Shipping Dimensions:
Carton #1
LI/ L= OO P PRSPPI Wood Crate
L0001 (=T o 1 SRRSO Machine
LA | o TR PP RO 812 Ibs.
Length X Width X HeIght........coiie e 91 x 39 x 43 in.
Carton #2
I3/ 1= PSR PPRPRR Cardboard
(070701 (= o | SO SRTI Filter 1
L AT = e o O PRSP PRPUPPPRPIN 73 Ibs
Length X Width X HEIGht........cooi e 69 x 23 x 23 in.
Carton #3
1Y/ o 1= SRR Cardboard
(07001 (= o | PSSR Filter 2
LAV = e o O PO P PPPUPPPPPON 73 Ibs
Length X Width X HEIGNt........ooiie e 69 x 23 x 23 in.
Electrical:
Full-Load Current Rating..........eeieeiiieii ettt et e e e e e e snneeeaeenes 30A at 220A, 15A at 440V
MiINIMUM CIFCUIE SIZE.....oeeeeeiiieeee et et e e e e e e e e e e e e e e e e e eaaaeaes 50A at 220V, 20A at 440V
SWICR ..o Magnetic Switch with Thermal Overload Protection
SWILCR VOIAGE. ...ttt h ettt b e bt ekt e et e bt e bt e s be e ebeeeab e et e e nneenne e 220V
Recommended PlUG/OULIEt TYPE.......couiiiiiiiiiieiit et Hardwire w/Locking Switch
RV o] = Ve TN 00 01V =T ] T o N 1 PRSP P0638119V2
RecommeNnded Phase CONVEIMET . ........ciuiiiiiie ettt e ettt st e et e e st e e sab e e e asbeenneeesnnee s G7978
Motors:
Main
13 L= PO PP PPRT PPN PRRI TEFC Induction (Class F)
[ (oL £=T=T oL 1= TR PP R TPRPT 10 HP
[V o] 2= T 1= PO 220V/440V
[ (=T =To FO PSP PPPPPPN 220V
[ A F= T TSP PP PP UTPPPPN Three
Y 4] LS PERPTRSPRPIOE 30A/15A
] 0 1=T=Y o PO T PP PSPPSR 3450 RPM
(0371 TSP RU PP 60 Hz
NUMDET OF SPEEAS. ...ttt ekttt e e st et et e e he e e et et e sttt e ne e e et e e et e e e ne s 1
POWET TIANSTEI ...ttt e e e ettt e e e ettt e e e e st te e e e e ensteeeeeanneeeaeeannaeeaeann Direct Drive
BBANNGS. ..ttt Shielded and Lubricated
Model G0637/G0638 (Mfg. Since 04/12) E

Download from Www.Somanuals.com. All Manuals Search And Download.



Main Specifications:

Operation
(D TUES @01 1=To1 (o] g Y/ o =TSO PRSP Cyclone
L1 (T Y/ o 1= T PO PP P TPPPPPRRNE Pleated Cartridge
F Y01 A OF=T o - Lo 1§/ TP 4029 CFM @4.3 in. S.P.
N S £ L[l g (YT TU | YR STPTRNS 16.8 in.
=T N L ] 0 = ST 12in.
Maximum Material Collection CapaCity.........ccciiuiiiiiiiiiiiee it 20 cu. ft.
Canister FIFation.........cooiii i e 0.2 - 2 micron

Bag Information

NO Of LOWEE BAGS. ...ttt et e s st s s s e e s ae s s e e e s e s s ne e sieesne e 2
oY g = F= ol 07T o F- ol | 2P PPPR 2.9 cu. ft.
LOWET Bag DIGMELEN..... ..ottt e e e ettt e e e e snb e e e e e e s annre e e e e e aannee 22-7/16 in.
[T g = 7= o =T g T 11 TSR PP OPRR 26-3/4 in.

Canister Information

[N o0} 7= 10 1151 (=T gl 11 (=] = TSR 2
CaniSter FiltEr DIAMETEN.........ccee et e e e e e e e e e e e e e s e e e e bbb e b ara e e e e e eeeeeeaeaeaeeneens 19-11/16 in.
(O 11 ES] (=Y g 11 Y gl =T oo 1 o SR 59in.
FIItEr SUIMACE ATBa....c.tii ettt b e ae e st sbe e eane e sbe e eneenneeea 398 sq. ft.
(070]11=Yo i o) o I B LU 1 4 STV TR 8.5 cu. ft.

Impeller Information

L] o111 =T g Y7o TS PSSP PPPRP PP Radial Fin
IMPEIIET SHZE.....neeee et e et a e s b et e et e e s eate e e sabe e e e s be e e sabeeesbeeeennbeeeaas 18-1/2in.
IMpeller Blade ThICKNESS. ........viiiiie et e s e s srr e s are e snre e e nnneeeas 3/8 in.
Construction
[T g = 7= T PP PR ST OPRR TR Clear Plastic
(O 101 S] (=] ST PRSP PU P OPPPTP Spun Bond Polyester
T T T USSP 16 Gauge Steel
2= 0 1T OSSP PP 13 Gauge Steel
1] o111 =T PRSP UP R PP Steel, Riveted
[ UL | O PP TU P OP PP OUPPPRPPR Powder Coated
BIOWET HOUSING. ... ettt ettt st e ettt e e ettt sab et e e sab e e e eabeeeenneeesaneeean 11 Gauge Steel
T o PSPPSRI 16 Gauge Steel
(0701 11=T1 (o] ol DIV 4o OO PRSP Steel
Other
Height With Bags INflated............ocoiiii e 140 in.

Other Specifications:

(ST @00l I - Uo7 (o] YT TSRO PRSP OT PP Yes

070104114V @ ® ¢Te [ o IO P OO PP OROPR Taiwan

L A= T = 101 PP UPRR PR 1 Year

Serial NUMDEI LOCALION ....oiiiiiiiiiii et Data Label on Machine

Customer ASSEMDIY & SEIUP TIMIE ....viiiuiiiiiiiiee ettt ettt et e sa e s e e saeeean e e seneenneenane s 3 hours

SOUNG RBEING 1.ttt ettt sh e e b e sh bt e bt e san e e sb et e abeeebe e et e e snn e e beeenneeneeaa 87 -90dB
Features:

Ramped Inlet Maximizes Dust Flow into Collection Drums

Steel Collection Drums with Casters for Easy Dust Disposal

Remote Controlled Star Delta Switch

Class "F" Motor

Dual Pleated Filters with Cleaning Brushes to Maximize Air Flow

Standard Equipment Mufflers Reduce Noise Level without Reducing Air Flow

E Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



SECTION 1: SAFETY

AWARNING

For Your Own Safety, Read Instruction
Manual Before Operating this Machine

The purpose of safety symbols is to attract your attention to possible hazardous conditions.
This manual uses a series of symbols and signhal words intended to convey the level of impor-
tance of the safety messages. The progression of symbols is described below. Remember that
safety messages by themselves do not eliminate danger and are not a substitute for proper

accident prevention measures.

ADANGER
AWARNING

A CAUTION

Indicates an imminently hazardous situation which, if not avoided,
WILL result in death or serious injury.

Indicates a potentially hazardous situation which, if not avoided,
COULD result in death or serious injury.

Indicates a potentially hazardous situation which, if not avoided,
MAY result in minor or moderate injury. It may also be used to alert

against unsafe practices.

NOTICE

This symbol is used to alert the user to useful information about
proper operation of the machine.

AWARNING
Safety Instructions for Machinery

OWNER’S MANUAL. Read and understand
this owner's manual BEFORE using machine.
Untrained users can be seriously hurt.

EYE PROTECTION. Always wear ANSI-approved
safety glasses or a face shield when operating or
observing machinery to reduce the risk of eye
injury or blindness from flying particles. Everyday
eyeglasses are not approved safety glasses.

HAZARDOUS DUST. Dust created while using
machinery may cause cancer, birth defects, or
long-term respiratory damage. Be aware of dust
hazards associated with each workpiece material,
and always wear a NIOSH-approved respirator to
reduce your risk.

WEARING PROPER APPAREL. Do not wear
clothing, apparel, or jewelry that can become
entangled in moving parts. Always tie back or
cover long hair. Wear non-slip footwear to avoid
accidental slips which could cause a loss of work-
piece control.

HEARING PROTECTION. Always wear hear-
ing protection when operating or observing loud
machinery. Extended exposure to this noise
without hearing protection can cause permanent
hearing loss.

MENTAL ALERTNESS. Be mentally alert when
running machinery. Never operate under the
influence of drugs or alcohol, when tired, or when
distracted.

Model G0637/G0638 (Mfg. Since 04/12)

A

Download from Www.Somanuals.com. All Manuals Search And Download.




AWARNING

DISCONNECTING POWER SUPPLY. Always dis-
connect machine from power supply before ser-
vicing, adjusting, or changing cutting tools (bits,
blades, cutters, etc.). Make sure switch is in OFF
position before reconnecting to avoid an unexpect-
ed or unintentional start.

APPROVED OPERATION. Untrained operators
can be seriously hurt by machinery. Only allow
trained or properly supervised people to use
machine. When machine is not being used, dis-
connect power, remove switch keys, or lock-out
machine to prevent unauthorized use—especially
around children. Make workshop kid proof!

DANGEROUS ENVIRONMENTS. Do not use
machinery in wet or rainy locations, cluttered
areas, around flammables, or in dark areas. Keep
work area clean, dry, and well-lighted.

ONLY USE AS INTENDED. Only use machine
for its intended purpose. Never modify machine
for a purpose not intended by the manufacturer!

USE RECOMMENDED ACCESSORIES. Consult
this owner’'s manual or the manufacturer for rec-
ommended accessories. Using improper acces-
sories will increase the risk of serious injury.

CHILDREN & BYSTANDERS. Keep children
and bystanders a safe distance away from work
area. Stop using machine if children or bystand-
ers become a distraction.

REMOVE ADJUSTING TOOLS. Never leave
adjustment tools, chuck keys, wrenches, etc. in or
on machine—especially near moving parts. Verify
removal before starting!

SECURING WORKPIECE. When required, use
clamps or vises to secure workpiece. A secured
workpiece protects hands and frees both of them
to operate the machine.

FEED DIRECTION. Unless otherwise noted, feed
work against the rotation of blades or cutters.
Feeding in the same direction of rotation may pull
your hand into the cut.

FORCING MACHINERY. Do not force machine.
It will do the job safer and better at the rate for
which it was designed.

GUARDS & COVERS. Guards and covers can
protect you from accidental contact with moving
parts or flying debris. Make sure they are prop-
erly installed, undamaged, and working correctly
before using machine.

NEVER STAND ON MACHINE. Serious injury or
accidental contact with cutting tool may occur if
machine is tipped. Machine may be damaged.

STABLE MACHINE. Unexpected movement dur-
ing operations greatly increases risk of injury or
loss of control. Before starting, verify machines
are stable and mobile base (if used) is locked.

AWKWARD POSITIONS. Keep proper footing
and balance at all times when operating machine.
Do not overreach! Avoid awkward hand positions
that make workpiece control difficult or increase
the risk of accidental injury.

UNATTENDED OPERATION. Never leave
machine running while unattended. Turn machine
OFF and ensure all moving parts completely stop
before walking away.

MAINTAIN WITH CARE. Follow all maintenance
instructions and lubrication schedules to keep
machine in good working condition. An improperly
maintained machine increases risk of injury.

CHECK DAMAGED PARTS. Regularly inspect
machine for damaged parts, loose bolts, mis-
adjusted or mis-aligned parts, binding, or any
other conditions that may affect safe operation.
Always repair or replace damaged or mis-adjust-
ed parts before operating machine.

MAINTAIN POWER CORDS. When disconnect-
ing cord-connected machines from power, grab
and pull the plug—NOT the cord. Pulling the cord
may damage the wires inside. Do not handle
cord/plug with wet hands. Avoid cord damage by
keeping it away from heated surfaces, high traffic
areas, harsh chemicals, and wet/damp locations.

EXPERIENCING DIFFICULTIES. If at any time
you are experiencing difficulties performing the
intended operation, stop using the machine!
Contact our Technical Support Department at
(570) 546-9663.

-10-

A

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.




Additional Safety for Dust Collectors

AWARNING

INTENDED USE. This dust collector is only
intended for collecting wood dust and chips from
woodworking machines. DO NOT use this dust
collector to collect metal, dirt, pebbles, drywall,
asbestos, lead paint, silica, liquids, aerosols, or
any flammable, combustible, or hazardous materi-
als.

HAZARDOUS DUST. Dust created while using
machinery may cause cancer, birth defects, or
long-term respiratory damage. Be aware of dust
hazards associated with each workpiece material,
and always wear a NIOSH-approved respirator to
reduce your risk.

DUST ALLERGIES. Dust from certain woods
may cause an allergic reaction in people and ani-
mals. Make sure you know what type of wood dust
you will be exposed to in case there is a possibility
of an allergic reaction.

WEAR RESPIRATOR. Fine dust that is too
small to be caught in the filter will be blown into
the ambient air during operation. Always wear a
NIOSH approved respirator during operation and
for a short time after to reduce your risk of perma-
nent respiratory damage.

EMPTYING DUST. When emptying dust from the
collection container, wear a respirator and safety
glasses. Empty dust away from ignition sources
and into an approved container.

DISCONNECTING POWER SUPPLY. Turn the
switch OFF, disconnect the dust collector from
the power supply, and allow the impeller to come
to a complete stop before leaving the machine
unattended or doing any service, cleaning, main-
tenance, or adjustments.

REGULAR CLEANING. Regularly check/empty
the collection bags or drum to avoid the buildup
of fine dust that can increase the risk of fire. Make
sure to regularly clean the surrounding area where
the machine is operated—excessive dust buildup
on overhead lights, heaters, electrical panels, or
other heat sources will increase the risk of fire.

SUSPENDED DUST PARTICLES AND IGNITION
SOURCES. DO NOT operate the dust collector in
areas were explosion risks are high. Areas of high
risk include, but are not limited to, areas near pilot
lights, open flames, or other ignition sources.

FIRE SUPPRESSION. Only operate the dust col-
lector in locations that contain a fire suppression
system or have a fire extinguisher nearby.

IMPELLER HAZARDS. DO NOT place your
hands or tools near the open inlet during operation
for any reason. The powerful suction could easily
cause accidental contact with the impeller which
will cause serious personal injury or damage to
the machine. Always keep small animals and chil-
dren away from open dust collection inlets.

AVOIDING SPARKS. DO NOT allow steel or
rocks to strike the impelle—this may produce
sparks. Sparks can smolder in wood dust for a
long time before a fire is detected. If you acciden-
tally cut into wood containing tramp metal (nails,
staples, spikes, etc.), immediately turn OFF the
dust collector, disconnect it from power, and wait
for the impeller to stop—then empty the collec-
tion container into an approved airtight metal
container.

OPERATING LOCATION. To reduce respira-
tory exposure to fine dust, locate permanently
installed dust collectors away from the working
area, or in another room that is equipped with a
smoke detector. DO NOT operate the dust collec-
tor in rainy or wet locations—exposure to water
may create an shock hazard or decrease the life
of the machine.

STATIC ELECTRICITY. Plastic dust lines gener-
ate high amounts of static electricity as dust chips
pass through them. Although rare, sparks caused
by static electricity can cause explosions or fire.
To reduce this risk, make sure all dust lines are
thoroughly grounded by using a grounding wire.

Model G0637/G0638 (Mfg. Since 04/12)

A

Download from Www.Somanuals.com. All Manuals Search And Download.

A1-



SECTION 2: POWER SUPPLY

Availability

Before installing the machine, consider the avail-
ability and proximity of the required power supply
circuit. If an existing circuit does not meet the
requirements for this machine, a new circuit must
be installed. To minimize the risk of electrocu-
tion, fire, or equipment damage, installation work
and electrical wiring must be done by a qualified
electrician in accordance with all applicable codes
and standards.

AWARNING

Electrocution, fire, or
equipment damage may
occur if machine is not
correctly grounded and
connected to the power

supply.

Iy

Full-Load Current Rating

The full-load current rating is the amperage a
machine draws at 100% of the rated output power.
On machines with multiple motors, this is the
amperage drawn by the largest motor or sum of all
motors and electrical devices that might operate
at one time during normal operations.

Model G0637:
Full-Load Current Rating at 220V .....25 Amps
Full-Load Current Rating at 440V .. 12.5 Amps

Model G0638:
Full-Load Current Rating at 220V .....30 Amps
Full-Load Current Rating at 440V ..... 15 Amps

The full-load current is not the maximum amount
of amps that the machine will draw. If the machine
is overloaded, it will draw additional amps beyond
the full-load rating.

If the machine is overloaded for a sufficient length
of time, damage, overheating, or fire may result—
especially if connected to an undersized circuit.
To reduce the risk of these hazards, avoid over-
loading the machine during operation and make
sure it is connected to a power supply circuit that
meets the requirements in the following section.

12-

Circuit Information

A power supply circuit includes all electrical
equipment between the breaker box or fuse panel
in the building and the machine. The power sup-
ply circuit used for this machine must be sized to
safely handle the full-load current drawn from the
machine for an extended period of time. (If this

A CAUTION

For your own safety and protection of
property, consult an electrician if you are
unsure about wiring practices or electrical
codes in your area.

Note: The circuit requirements listed in this man-
ual apply to a dedicated circuit—where only one
machine will be running at a time. If this machine
will be connected to a shared circuit where mul-
tiple machines will be running at the same time,
consult a qualified electrician to ensure that the
circuit is properly sized for safe operation.

Circuit Requirements for 220V

This machine can be converted to operate on a
220V power supply (refer to Voltage Conversion
instructions). This power supply must have a veri-

Nominal Voltage ........cccevvmerriiimeernisnnennans 220V
L0 L 60 Hz
Phase.......cccooiriiinnnssnannnnanes 3-Phase
Circuit Rating.......cccevvecmriiicericsceee 50 Amps
Connection........ Hardwired w/Locking Switch

Circuit Requirements for 440V

This machine can be converted to operate on a
440V power supply (refer to Voltage Conversion
instructions) that has a verified ground and meets
the following requirements:

Nominal Voltage .......ccccceerrrrrrrrsrsssssssnnnnnnns 440V
L0 [ 60 Hz
Phase.....ccccciiiiriiinneeeesn s 3-Phase
Rated Size.....cccccoviiiimrriiinereeee 20 Amps
Connection........ Hardwired w/Locking Switch

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



Connection Type

A permanently connected (hardwired) power sup-
ply is typically installed with wires running through
mounted and secured conduit. A disconnecting
means, such as a locking switch (see following
Figure), must be provided to allow the machine
to be disconnected (isolated) from the power
supply when required. This installation must be
performed by an electrician in accordance with all
aoplicable electrical codes and ordinances.

Locking

Disconnect Switch
Power

Source

A

l Conduit

Ground

Grcimd

Figure 2. Typical setup of a permanently
connected machine.

Grounding Instructions

In the event of a malfunction or breakdown,
grounding provides a path of least resistance
for electrical current to reduce the risk of electric
shock. A permanently connected machine must
be connected to a grounded metal permanent wir-
ing system; or to a system having an equipment-
grounding conductor. All grounds must be verified
and rated for the electrical requirements of the
machine. Improper grounding can increase the
risk of electric shock!

AWARNING

Serious injury could occur if you connect
the machine to power before completing the
setup process. DO NOT connect to power

until instructed later in this manual.

Model G0637/G0638 (Mfg. Since 04/12)

A

Extension Cords

Since this machine must be permanently con-
nected to the power supply, an extension cord
cannot be used.

Phase Converter

When using a phase converter, the power from
the manufactured power leg (sometimes called
the wild wire) can fluctuate. Connect the manu-
factured power leg to the 3L/2 terminal to prevent
damage to the IC board or transformer. The wire
from this terminal can handle some fluctuation
because it goes directly to the motor. The power
going to the 1L/2 and 5L/3 terminals goes to the
IC board and transformer and must be consistent
to prevent damage.

13-

Download from Www.Somanuals.com. All Manuals Search And Download.



Model G0637 440V Conversion

The Model G0637 can be rewired for 440V opera-
tion. This rewiring job consists of disconnecting
the dust collector from the power source, chang-
ing the control box, replacing the motor cord, and
rewiring the motor.

The necessary conversion kit for this procedure
can be purchased by calling our customer service
number at (800) 523-4777 and ordering part num-
ber PO637119V2.

When complete, the rewiring job must be inspect-
ed by a qualified electrician before the dust collec-
tor is connected to the power source. Refer to the
Wiring Diagrams on Pages 54-55 for additional
information.

To convert the G0637 to 440V:
1. DISCONNECT MACHINE FROM POWER!

2. Disconnect the power cord from the mag-
netic switch, the motor cord from the overload
relay, and the grounding wire from the control
box.

3. Remove the old control box from the control
switch bracket, and install the new control
box to the control switch bracket.

4. Re-attach the power cord to the magnetic
switch, the new motor cord to the overload
relay, and the grounding wire to the ground
terminal (see Figure 3).

5T a2 sU3 13n0

440V Contactor

2T 4T2 61/3 14NO

| Panel

PEOUBAO NOTY

Power Switch

Figure 3. Model GO637 control box overload
relay and transformer.

14-

5. Disconnect the old motor cord from the motor
and remove the (3) terminal jumpers (see
Figure 4).

220VAC

(Pre-Wired)

Figure 4. Model G0637 motor wired for 220V.

6. Rewirethe motor wires for440V and attach the
new motor cord, as illustrated in Figure 5.

®
I W6 U1
1 B BK @ @
o]
e ® @ ® © e
440VAC
(Re-wired)

Figure 5. Model G0637 motor re-wired for 440V.

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



Model G0638 440V Conversion 5. Remove the motor cords from the two mag-

To operate the Model GO638 on 440V power, you netic switch assemblies in the control box
must purchase a G0638 440V Conversion Kit. (serg Figure 6) and install the new motor
Call our customer service number at (800) 523- coras.

4777 and ord t ber P 119v2.
and order part number P0638119 6. Open the motor junction box, remove the old

motor cords, and rewire the motor terminals

T t th to 440V:
o convert the G0638 to 440 for 440V power, as illustrated in Figure 8.

1. DISCONNECT MACHINE FROM POWER!

2. Open the control box and identify the overload
relay and the transformer (see Figure 6). -1‘
@9 D
:' ) _:- hjd A
: ® 4] & 6]
k B . —O) ) O
A N
f ran' @ & @ G & D
| - . Figure 8. Model G0638 motor rewired for 440V.

. : 7. Install the new motor cords on the motor (see
Manetic Figure 8), and close the motor junction box.

Switches |

Figure 6. Model G0638 control box ovrloa AWAR N I NG

relay, magnetic switches, and transformer. - -
You must have a qualified electrician inspect

3. Replace the overload relay with the one your 440V rewiring job before connecting
included in the conversion kit, and turn the the dust collector to the power source.
AMP dial to 15. Failure to heed this warning may result in

property damage, serious personal injury,
or death from electrocution.

4. Move the "R0" wire on the transformer from
the 220V terminal to the 440V terminal (see
Figure 7).

440V Connection

Transformer

110V 220V 230V

s T 1}

220V Connection

Figure 7. Model G0638 220V and 440V
transformer connections.

Model G0637/G0638 (Mfg. Since 04/12) ? -15-

Download from Www.Somanuals.com. All Manuals Search And Download.



Correcting Phase Polarity

This subsection is only provided for troubleshoot-
ing. If you discover during the test run that the
machine will not operate, or that the impeller spins
backward, the power connections may be wired
out-of-phase. Without the proper test equipment
to determine the polarity of the power source legs,
wiring machinery to 3-phase power may require
trial-and-error. Correcting phase polarity is simply
a matter of reversing the positions where two of
the incoming power source wires are connected
inside the control box.

NOTICE

If this machine is wired out-of-phase, the
motor and impeller will spin in the wrong
direction. The efficiency of the dust col-
lector will be greatly reduced and will not
provide the rated CFM. You must make
sure the motor is spinning in the correct
direction before placing the machine into
full operation. Perform Step 10 of the test
run on Page 34 to make sure the machine
is correctly wired.

To correct phase polarity:
1. DISCONNECT MACHINE FROM POWER!
2. Open the control box and swap the connec-

tions of any two incoming hot wires from the
power source (see Figure 9).

70 9

Swap Any ) 4 e
erlo y
Two / o 412 61/3 N3
of These L @ ©
Connections Bk) (Bk) (Bk) (Bk) (BK, Bk2 55@ Qﬂ
95 97

I AV
)
? \
B0 1 (BK) 2 (BR) Ef' BR 'H

Figure 9. Connections to change when
correction phase polarity.

16-

A

Secure the control box cover, then re-connect
the machine to power.

Perform Step 10 of the test run on Page 34
to confirm that the power connections are
correct.

—If the motor and impeller are still rotating

in the wrong direction, contact our Tech
Support at (570) 546-9663 for assistance.

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



SECTION 3: SETUP

AWARNING

This machine presents
serious injury hazards
to untrained users. Read
through this entire manu-
al to become familiar with
the controls and opera-
tions before starting the
machine!

Needed for Setup

AWARNING

Wear safety glasses dur-
ing the entire setup pro-
cess!

AWARNING

This machine and its com-
ponents are very heavy.
Get lifting help or use
power lifting equipment
such as a forklift to move
heavy items.

T
L

AWARNING

SUFFOCATION HAZARD!
Keep children and pets away
from plastic bags or packing
materials shipped with this
machine. Discard immediately.

Model G0637/G0638 (Mfg. Since 04/12)

The following are needed to complete the setup
process, but are not included with your machine:

Description Qty
*  ASSIStanCe......cccccceiiiiiiiiiiieeeen As Needed
*  Power Lifting Equipment ............ As Needed
e Safety Glasses.................. For Each Person
e Wrenches V2" ..o 2
o Wrenches ¥B"......ccocoiiiiiiiie e 2
*  Wrench ¥16" ..o 1
o Wrench 10mm ... 1
*  Phillips Screwdriver #2........cccccoceiiiiiinennne 1
* Level (3 ft. or more in length) ..................... 1
e  Floor Mounting Hardware........ See Page 21
*  Medium-Strength

Thread Locking Compound.............. 1 Bottle

Unpacking

Your machine was carefully packaged for safe
transportation. Remove the packaging materials
from around your machine and inspect it. If you
discover the machine is damaged, please imme-
diately call Customer Service at (570) 546-9663
for aavice.

Save the containers and all packing materials for
possible inspection by the carrier or its agent.
Otherwise, filing a freight claim can be difficult.

When you are completely satisfied with the condi-
tion of your shipment, inventory the contents.

A7-

Download from Www.Somanuals.com. All Manuals Search And Download.



Inventory

After all the parts have been removed from the
boxes, you should have the following items:

Inventory: (Figures 10-14) Qty
A. Upper Stand Braces........cccccevviiuvvieeeennnnn. 4
B. Upper Stand Legs ....ccoevvvviiiiiiieiieeeeees 4
C. Filter Brace Supports (LONQ) .....evvveeeeeeennee 2
D. Control Box Bracket ..........cccccvviieeeeeeiennnes 1
E. Cyclone Mounting Brackets............cccoc....... 4
F. Lower Stand Legs ......cccccevviiieveiniiieeeee 4
G. Filter L-Braces ........cccooeeeiiiiiiiiiiiiiiecee e 2
H. Filter Brace Support (Short) ..o 1
I.  Lower Stand Braces..........cccccuvvveeveeeeeennnnns 4

i

Figure 10. Model G0637/G0638 inventory A—I.

J. Intake Cylinder .........cccooiiiiiiiiiiiiieeeee 1
K. Outlet Port.......ccooooiieee e, 1
L. Cyclone Funnel (Large).......ccccceviuieeeennnne. 1
M. Intake Barrel ..o, 1
N. Cyclone Funnel (Small)........ccccevveveeriinninnns 1
O. Funnel Port.......ccoociiiiiiiiieeee e 1

[J]

g

Figure 11. Model G0637/G0638 inventory J-O.

18-

A

P. Blower Housing with Motor ................cc..... 1
Q. Control BOX......coeeviuiiieiiiiieeesiiieeeesiieee e 1
R. Remote Control .........ccceeevviiiiiiiiieeee e 1
S. Collection Drum Lid Latches...................... 6
T. Casters 2" 8
U. Collection Drum LidS.....ccccoeeeiiiiiieiiieiieeennn, 2
V. Upper Collection Drum Cylinders............... 2
W. Collection Drum Clamps .........cccccvvveeeeeeennn. 2
X. Lower Collection Drum Cylinders............... 2

58868868
[T]

Figure 12. Model G0637/G0638 inventory P—X.

Y. Flexible Ducts 9" x 25V2" ........covvveeveeiiienn 2
Z. Noise MUFflers ........cooueiviiiiieiiiiiieeieeeee e 2
AA. Canister Filters

—Model G0637 510 x 1200mm.................. 2

—Model G0638 510 x 1500mm.................. 2
AB. Flexible Ducts 8" x 312" ......oovvvviieeeeeeees 2
AC. Flexible Ducts 8" X 434" .......ovviiiiiiiiiien 2
AD. Canister Filter Bag Clamps ...........cccceeeennee 2

Figure 13. Model G0637/G0638 inventory Y—AD.

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



AE. Gaskets (not shown):
—Intake Cylinder 3 x 6 x 1800mm............. 1
—Outlet Port 3 x 6 x 1100mm..................... 1
—Cyclone Funnel (Large)

3X6X2500MM .., 1
—Intake Barrel 3 x 6 x 2500mm ................ 1
—Cyclone Funnel (Small)

3 X6 X2200MM .., 1
—Funnel Port 3 x 6 x 735mm .................... 1
—Canister Hose Gaskets

3X 15X 700MM cceeeiiiiiiiieee e, 8
—Drum Lid PVC Rubber Seal.................... 2
—Foam Tape 3 x 6 x 300mMm ........cccceeeeenn. 1

AF. Rubber Mounting Gaskets (not shown):
—Filter Canisters.....cc.cccooeeciieeeiieeee, 4
AG. Duct Clamps 8" (not shown)............cceeee..e 8
AH. Duct Clamps 9" (not shown)............ccceeeee... 4
Al. Collection Bags (not shown):
—Collection Drums 640 x 1200mm......... 10
—Canister Filters 570 x 600mm ................ 2
AJ. Hardware (not shown):
—Hex Bolts %6"-16 X 34"......cccvveeeeeeee 75
—Hex Bolts %6"-16 x 14" ..o 8
—Hex Bolts %46"-18 X 34" ...coovvvveeeeeeeeeeene 30
—Hex Bolts %16"-18 X 1" ....c.eviieeiiiiiie 10
—Hex Bolts %16"-18 X 1V4" ......coovieiiie 27
—Phillips Head Screws #10-24 x %s" ....... 24
—Fender Washers %16" ......ccccceveeviicciiinnnn. 8
—Flat Washers 3" ... 180
—Flat Washers %16" ......ccooeerieiiiiiiiiiceeeen.. 96
—Lock Washers 38" .......coevvvvvveiiiiiiienne, 8
—Hex Nuts 38"-16 ... 17
—Hex Nuts %16"-18 ..., 37
—Hex Nuts #10-24 ... 24
—Lock Nuts 36"-16 ........ccccviriieeeeeeee 72
—@G0638 (For Control Box Bracket)

Phillips Head Screws M6-1 x 15............. 4

Flat Washers 6mm.............ccceeevvvvvieennnn. 4

Hex Nuts M6-1........ccoeviiiiiiiiiiiieee e, 4

Model G0637/G0638 (Mfg. Since 04/12)

A

AK. Vacuum Hose Clamps 14" ........cccvveeeeennn. 4
AL. Vacuum Hose 14" X 79" ..o, 2
AM.Vacuum Manifold..........ccccceeeeiiiiiiiiieeeeen 1
AN. Vacuum Hose Clamps 2" .........cccceiieeeene 2
AO. Vacuum Hose 2" X 39" ......cccoviiiviiiiiieeeeen, 1
AP. Collection Drum Vacuum Ring.........c......... 2
AQ. Cyclone Vacuum Port........ccccceviiiiiieennnnnn. 1
AR. Vacuum Hose ClipS......ccceeeeiiiiiiiiiiieeeeeenns 2
=
(&) S
AL <
Al
-
O
=
Figure 14. Model G0637/G0638 inventory
AK-AR.
-19-

Download from Www.Somanuals.com. All Manuals Search And Download.




Site Considerations

Weight Load

Refer to the Machine Data Sheet for the weight
of your machine. Make sure that the surface upon
which the machine is placed will bear the weight
of the machine, additional equipment that may be
installed on the machine, and the heaviest work-
piece that will be used. Additionally, consider the
weight of the operator and any dynamic loading
that may occur when operating the machine.

Space Allocation

Consider the largest size of workpiece that will
be processed through this machine and provide
enough space around the machine for adequate
operator material handling or the installation of
auxiliary equipment. With permanent installations,
leave enough space around the machine to open
or remove doors/covers as required by the main-
tenance and service described in this manual.
See below for required space allocation.

[l | ACAUTION

Children or untrained people
£ may be seriously injured by

this machine. Only install in an
access restricted location.

Physical Environment

The physical environment where the machine is
operated is important for safe operation and lon-
gevity of machine components. For best results,
operate this machine in a dry environment that is
free from excessive moisture, hazardous chemi-
cals, airborne abrasives, or extreme conditions.
Extreme conditions for this type of machinery are
generally those where the ambient temperature
range exceeds 41°-104°F; the relative humidity
range exceeds 20—-95% (non-condensing); or the
environment is subject to vibration, shocks, or
bumps.

Electrical Installation

Place this machine near an existing power source.
Make sure all power cords are protected from
traffic, material handling, moisture, chemicals,
or other hazards. Make sure to leave access to
a means of disconnecting the power source or
engaging a lockout/tagout device, if required.

Lighting

Lighting around the machine must be adequate
enough that operations can be performed safely.
Shadows, glare, or strobe effects that may distract
or impede the operator must be eliminated.

102" Working Clearance

72"

63"

i i

53"
e
89" Working
Clearance

[

53"

Figure 15. Minimum working clearances.

-20-

A

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



Mounting to Shop
Floor

Since your dust collector will be hardwired to the
power source, we strongly recommend secur-
ing your machine to the floor. Consult with your
electrician to ensure compliance with applicable
codes. Because floor materials may vary, floor
mounting hardware is not included.

Bolting to Concrete Floors

Lag shield anchors with lag bolts and anchor
studs (Figure 16) are two popular methods for
anchoring an object to a concrete floor. We sug-
gest you research the many options for mounting
your machine and choose the one that best fits
your specific application.

NOTICE

Anchor studs (see Figure 16) are stronger
and more permanent alternatives to lag
shield anchors; however, they will stick out
of the floor, presenting a tripping hazard if
you decide to move your machine.

\mimia)

] L I I AT
NEREAR T A ml%”«L}' Al

Figure 16. Typical fasteners for mounting to
concrete floors.

Model G0637/G0638 (Mfg. Since 04/12)

Assembly

To assemble the dust collector:

1.

Use (8) %"-16 x %" hex bolts, (16) %" flat
washers, and (8) %s"-16 lock nuts to connect
2 upper stand legs, 1 upper stand brace, and
1 lower stand brace —only finger tighten the
fasteners (see Figure 17).

Note: To make the installation of the fasten-
ers easier, use scrap wood to raise the metal
components off the floor.

Upper Stand Legs

|Lower Stand Brace|

Figure 17. One side of upper stand assembled.

2.

Repeat Step 1 to make the other side of the
upper stand.

Note: The %" fender washers with a larger
outside diameter will be used to attach the
canister filters in later steps—do not use
them for any other assembly.

-21-

Download from Www.Somanuals.com. All Manuals Search And Download.



3. Use (16) %"-16 x %" hex bolts, (32) %" flat
washer, and (16) %"-16 lock nuts to con-
nect the two sides of the upper stand with
two upper stand braces and two lower stand
braces—only finger tighten the fasteners
(see Figure 18).

——— e ——

Figure 18. Upper stand assembled.

4. Place the level across a corner of the lower
stand braces and move the upper stand
around until that corner is level, then fully
tighten all of the fasteners for that corner (see
Figure 19).

Figure 19. Level positioned on the upper stand.

5. Repeat Step 4 for the rest of the corners,
then set the upper stand assembly aside.

-22-

AWARNING

When using power lifting equipment dur-
ing the assembly, make sure the equipment
is safe, fully operational, and adequately
rated for the weight being lifted. The opera-
tor of the equipment must be experienced
and able to use safe methods during these
processes. Failure to heed these warnings
could result in serious personal injury or
death.

6. Place the intake cylinder on the floor and
apply the 3 x 6 x 1800mm gasket to the
intake cylinder top rim, between the mounting
holes and the inside edge (see Figure 20).

Figure 20. Gasket applied to the intake cylinder
rim.

7. With assistance and the power lifting equip-

ment, keep the intake cylinder on the floor
and lower the blower housing over the top of
the intake cylinder.

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



8. Use the (6) %6"-18 x %" hex bolts and (6) %" 11. With assistance, place the intake barrel over

flat washers to secure the intake cylinder to the large cyclone funnel and align the mount-
the bottom of the blower housing (see Figure ing holes as illustrated in Figure 22.
21).

Intake
Barrel

Note: Because this part of the dust collector
is not accessible after assembly, consider
using Medium Strength Blue Thread Locker
(Grizzly Model T21854) on the bolts that
secure the intake cylinder to the motor/blower
housing assembly to ensure that the fasten-
ers won't come loose with vibration.

Mounting Holes

Large Cyclone
Funnel

Figure 22. Intake barrel and large cyclone funnel
mounting holes aligned.

NOTICE

When connecting parts that have a gasket
applied to the mounting surface, always
tighten the fasteners in a opposing star pat-

Figure 21. Intake cylinder mounted to blower ter to ensure the gasket does not become
housing. crimped and compromise the seal.

9. Position the large cyclone funnel so the small 12. Connect the intake barrel and large cyclone

end rests on the floor. funnel with (12) %6"-18 x 1%4" hex bolts, (24)

%e" flat washers, and (12) %s"-18 hex nuts

10. Apply the 3 x 6 x 2500mm gasket to the top in the mounting holes—excluding the left

mating surface of the large cyclone funnel. and right hole of the groups of three (see
Figure 23).

Note: When aligning the holes in the next
step, be aware that the large cyclone funnel
top and the intake barrel mating surfaces
have four places around the rims where there -
are three mounting holes close together. ﬂ 8

Intake
Barrel

Large Cyclone /V

Funnel

Figure 23. Intake barrel and large cyclone
funnel.

Model G0637/G0638 (Mfg. Since 04/12) E -23-

Download from Www.Somanuals.com. All Manuals Search And Download.



13. Install the four cyclone mounting brackets
with (8) %"-16 x 1%" hex bolts, (16) %"
flat washers, and (8) %"-16 lock nuts (see
Figures 22 & 24).

4

Figure 24. Cyclone mounting bracket mounted
to collector assembly.

14. Apply the 3 x 6 x 2500mm gasket to the top
mating surface of the intake barrel assem-
bly.

15. Keeping the intake barrel assembly on the
floor, lower the blower housing assembly
over and approximately one inch away from
the intake barrel assembly.

16. Using two punches or Phillips screwdrivers
as alignment guides (see Figure 25), lower
the blower housing assembly onto the intake
barrel assembly.

Figure 25. Aligning the mounting holes.

-24-

Note: Orient the two assemblies so that the
large, round intake port of the intake barrel
is NOT directly underneath the rectangular
outlet port of the blower housing. The outlet
port will connect to the canister filters and will
not allow room for attachment of the intake
ducting to the intake port.

17. Attach the two assemblies with the (12) %6"-
18 x %" hex bolts and (12) %" flat washers
(see Figure 26).

blower housing assembly.

Tip: When installing the two bolts above the
intake port of the intake barrel, use duct tape
on the bottom of your wrench. This will hold
the bolts in the wrench while inserting them in
place (see Figure 27).

Figure 27. Using tape on a wrench in a tight
spot.

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



18. Apply the 3 x 6 x 300mm foam tape to the
mating surface of the cyclone vacuum port,
then attach it to the cyclone funnel with (4)
%6"-18 x %" hex bolts and (4) %" flat washers
(see Figure 28).

Figure 28. Cyclone vacuum tube and hose
attachment.

19. Lower the blower/intake assembly into the
upper stand assembly so that the cyclone
mounting brackets align with the mount-
ing holes of the upper stand braces (see
Figure 29).

Cyclone

Mounting
Brackets \ :

Figure 29. Mounting blower/intake assembly to
upper stand.

20. Secure the mounting brackets to the upper
stand with (8) %4"-16 x %" hex bolts, (16) %"
flat washers, and (8) 34"-16 lock nuts.

21. With assistance and the power lifting equip-

ment, raise the entire assembly high enough
to install the lower stand legs.

Model G0637/G0638 (Mfg. Since 04/12)

22. Slide the four lower stand legs onto the bot-
toms of the upper stand legs—do NOT install
the fasteners yet.

23. Slowly lower the weight of the assembly onto
the lower stand legs.

Note: To keep the assembly stable while
completing the next steps, keep the power
lifting equipment engaged but not lifting.

24. To allow the mounting holes of the lower
stand legs to align properly, slightly loosen
the 16 fasteners that connect the lower
stand braces to the upper stand legs (see
Figure 30).

Figure 30. Lower stand legs attached to the
upper stand assembly.

25. Secure the lower stand legs to the upper
stand assembly with (24) 3%"-16 x %" hex
bolts, (48) %" flat washers, and (24) %"-16
lock nuts.

26. Re-tighten the 16 fasteners connecting the
lower stand braces to the assembly.

27. Remove the power lifting equipment from the
assembly.

Note: The only other use for the power lift-
ing equipment is moving the dust collection
system into its permanent position when the
assembly is complete.

-25-

Download from Www.Somanuals.com. All Manuals Search And Download.



28. Apply the 3 x 6 x 1100mm gasket to the 33. Attach the two long brace supports to the

square side of the outlet port. filter braces with (4) 3%"-16 x %" hex bolts, (8)
%" flat washers, and (4) %"-16 hex nuts, as
29. Attach (1) 3 x 15 x 700mm gasket to the outer shown in Figure 33.

circular rims of each outlet port.

30. Mount the outlet port to the blower hous-
ing with (4) %6"-18 x 1" hex bolts, (8) %"
flat washers, and (4) %6"-18 hex nuts (see
Figure 31).

Outlet Ports
w/Gaskets

Outlet ort
Gasket

Figure 33. Long brace supports attached.

34. With assistance, position the rubber mount-
ing gaskets between the filter canisters and
the long brace supports, and secure the can-
: - isters with (8) %6"-18 x %" hex bolts and (8)

Flgure 31. Filter L-braces mounted to blower %" fender washers (see Figure 34).

Filter
L-Braces

housing.
31. Attach the filter L-braces to either side of the : N Mounting
outlet port on the blower housing with (6) %16"- - Bolts
18 x 1" hex bolts, (12) %¢" flat washers, and i ——

N

(6) %16"-18 hex nuts.

—

Gaskets “l"w "lmw'
H
T ll'liﬂl 1||”M]l

(1D

32. Secure the short filter brace support to the
back of the filter L-braces with (2) %6"-16 x %4"
hex bolts, (4) %" flat washers, and (2) %"-16
hex nuts (see Figure 32). '

Flgure 34. Canister filters mounted to the long
support braces.

Figure 32. Short filter brace support attached.

-26- ? Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



35. Attach the 3 x 15 x 700mm gaskets to the
upper rim of the canister filter assembly and
both rims of the noise muffler.

36. Assemble the 8" x 312" flexible ducts, the
noise mufflers, and the 8" x 4%4" flexible ducts
with the 8" duct clamps (see Figure 35).

Noise
Muffler

- —
f | -l

Y ST |
Figure 35. Ducting and noise muffler connected
between blower housing and filter canister.

37. Use the 8" duct clamps to connect the duct
assemblies between the outlet port of the
blower housing and the canister filters.

38. Fit the smaller plastic collection bags over
the bottom of the filters and clamp them in
place with the metal bag clamps, as shown in
Figure 36.

YK
R T

|

Figure 36. Canister filter collection bag installed.

Model G0637/G0638 (Mfg. Since 04/12)

39. Apply the 3 x 6 x 2200mm gasket to the larg-
er, top end of the small cyclone funnel, then
place the cyclone funnel upside down on the
floor.

Note: Use a clean covering on the floor to
protect the gasket.

40. Apply the 3 x 6 x 735mm gasket to the top of
the funnel port and place this upside down on
top of the cyclone funnel.

41. Attach the small cyclone funnel and funnel
port with (6) %6"-18 x 174" hex bolts, (12) %"
flat washers, and (6) %6"-18 hex nuts.

42. With assistance, attach this assembly to the
bottom of the large cyclone funnel with (9)
%6"-18 x 174" hex bolts, (18) %¢" flat washers,
and (9) %"-18 hex nuts (see Figure 37).

Sml
Cyclone
Funnel

Figure 37. Small cyclone funnel and funnel port
attached.

-27-

Download from Www.Somanuals.com. All Manuals Search And Download.



43. For each lower collection drum cylinders,
attach the casters to the bottom using (4) %s"-
16 hex nuts, (4) 3" flat washers, and (4) 3"
lock washers (see Figure 38).

Figure 38. Dust collection drum casters installed.

44. Connect each upper and lower collection
drum cylinder with a collection drum clamp
and use (1) %6"-18 x 3" hex bolt and (1)
%6"-18 hex nut to tighten the clamp (see
Figure 39).

A<

Figure 39. Installing drum clamp around dust
collection cylinders.

-28-

45. Install the rubber seal over the top lip of the
collection drum rim. Pay special attention
to the direction of the seal, as shown in the
Figure 40.

Tip: To keep the seal in place, you can use
an adhesive applied to the rubber seal at
approximately 1" intervals.

Figure 40. Installing drum seal.

46. Install the drum lid latches on the upper part
of each collection drum assembly with (12)
#10-24 x %" Phillips head screws and (12)
#10-24 hex nuts (see Figure 41).

Figure 41. Collection drum lid latch installed.

47. To prevent a vacuum leak in the collection
drums, use (12) #10-24 x %" Phillips head
screws and (12) #10-24 hex nuts to plug
the holes in the lower half of the collection
drums.

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



48. Place the collection drum vacuum rings on 50. Connect the dust collection drum assemblies
the bottom of the collection drums (see to the funnel port with the 9" flexible ducts
Figure 42). and 9" duct clamps (see Figure 44).

Note: During operation, this ring and the
vacuum connection to the cyclone funnel will
prevent the collection bag from collapsing.

S

Figure 44. Dust collection drum assemblies
connected to funnel port.

Figure 42. Inserting collection drum vacuum
ring.

51. Use the 2" hose clamps to attach one end
of the 2" x 39" vacuum hose to the cyclone
vacuum port and the other end to the vacuum
manifold (see Figure 45).

2" Hose}

.-.'-.’

49. Install the larger plastic collection bag into the
drum, place the lid on it and hook the latch
over the lid, as shown in Figure 43, then
clamp it in place.

-~

Figure 43. Latch hooked over the lid for '

clamping. Figure 45. Vacuum hoses attached to the
vacuum manifold.

Model G0637/G0638 (Mfg. Since 04/12) ? -29-

Download from Www.Somanuals.com. All Manuals Search And Download.



52. Connect the vacuum hoses between the 54. Model G0637 only: Mount the control box

vacuum manifold and the collection drum onto the lower stand brace with (3) %"-16 x
vacuum ports with (4) 174" hose clamps (see %" hex bolts, (6) %" flat washers, and (3) %"-
Figure 45-46). 16 hex nuts (see Figure 48).

Note: The remote control uses IR (infrared)
to communicate with the control box, and
must have direct line-of-sight to the control
box. Locate the control box with this in mind.

v oW |

' \H

Figure 46. Connecting the vacuum hose.

53. Secure the vacuum hose inside the upper
and lower stand legs with the (2) U-shaped =
clips (see Figure 47). =

= g "l alln,
Figure 48. Model G0637 control box mounted.

55. Model G0638 only: Mount the control brack-
et onto the lower stand brace with (2) %"-16
x %" hex bolts, (4) %" flat washers, and (2)
%"-16 hex nuts (see Figure 49).

Figure 47. Securing the vacuum hose to the
stand legs.

Figure 49. Model G0638 control box bracket
mounted.

-30- ? Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



56. Open the control box and identify the four H
mounting holes in the back of the cabinet. Power ConneCtlon

57. Attach the control box to the bracket already
mounted on the stand brace with (4) M6-1 x
15 Phillips head screws, (4) 6mm flat wash-

Due to the complexity required for planning,
bending, and installing the conduit necessary

ers, and (4) M6-1 hex nuts (see Figure 50). for a code-compliant hardwire setup, an electri-
cian or other qualified person MUST perform

e "V this type of installation..Hardwire setups typicglly
} EE require power supply wires to be enclosed inside

_I‘p ¢ "V of a solid or flexible conduit, which is securely
I| ‘ ‘ "* ‘

mounted at both ends with the appropriate con-
duit fittings. All work must adhere to the required
electrical codes.

The hardwire setup for this machine must include
a locking disconnect switch (see Figure 51)
between the power source and the machine. This
switch serves as the means to completely discon-
nect the machine from power to prevent elec-
trocution accidental startup during adjustments,
maintenance, or service to the machine.

Figure 50. Model G0638 control box mounted.

Locking
Disconnect Switch
NOTICE Power
If the control box is locked, use the included Source
key to unlock it for access to complete set
up. Always lock the box and keep the key in
a safe and secure location to prevent unau-
thorized access. l .
Conduit
Ground Ground

Figure 51. Typical hardwire setup with a locking
disconnect switch.

Model G0637/G0638 (Mfg. Since 04/12) ? -31-

Download from Www.Somanuals.com. All Manuals Search And Download.



G0637 Power Connection

The incoming power wires must be connected to
the three terminals on the master power switch
marked 1L/1, 3L/2, and 5L/3, and the incoming
ground wire must be connected the ground ter-
minal shown in Figure 52. All wires must have
adequate slack and be clear of sharp objects.

To Power
Supply

I

~

/1 8L/2  5L/3 13NO

220V Contactor

|

NHD C-35D

2T/ AT/2 AT/ _14NO

1= Ground
&)

Figure 52. G0637 mag switch to power supply
connection.

-32-

G0638 Power Connection

The incoming power wires must be connected to
the three terminals on the overload relay marked
1L/, 3L/2, and 5L/3, and the incoming ground
wire must be connected the ground terminal
shown in Figure 54. All wires must have adequate
slack and be clear of sharp objects.

1w 3L2 5L/3
220V Overload Relay
2T 4T/2 6T/3

/\/\/\/\/\/\/
J;- Ground

I-‘! To Power
/ Supply

Figure 54. G0638 overload relay to power
supply connection.

- R sy

Figure 55. G0638 overload relay.

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



Test Run

When the assembly is complete, test run your
dust collection system to make sure it operates

properly.

If, during the test run, you cannot easily locate
the source of an unusual noise or vibration, stop
using the machine immediately, then review the
Troubleshooting on Page 50.

If you still cannot remedy a problem, contact our
Tech Support at (570) 546-9663 for assistance.

To test run your dust collection system:

1. Make sure you have read the safety instruc-
tions at the beginning of the manual and that
the machine is setup properly.

2. Make sure all tools and objects used during
setup are cleared away from the machine.

3. Review Power Supply on Page 12 and con-
nect the machine to the power source.

4. Flip the main power switch at the lower
left hand corner of the control box (see
Figures 56) to (l) from (O).

Note: For the Model GO638, make sure the

EMERGENCY STOP button is popped out by
twisting the knurled knob clockwise.

[T 2

EMERGENCY STOP
Button |
[

- 3
ON/OFF ’
Button ‘I

REMorE
ONTRo,
SWirey : |

fy Main Power |/
Switch :

id N 4 - | S

Figure 56. Control box (Model G0638 shown).

Model G0637/G0638 (Mfg. Since 04/12)

A

5. Press the ON/OFF button to turn the machine

ON. Make sure your hand stays poised over
the switch in case you need to quickly turn
the machine OFF.

6. Listen to and watch for abnormal noises or

actions. The machine should run smoothly
with little or no vibration or rubbing noises.

—If you suspect any problems, immedi-
ately turn the machine OFF and discon-
nect the machine from power. Refer to
Troubleshooting on Page 50 to identify
and fix any problems.

—If you cannot solve the problem with the
use of the Troubleshooting guide, contact
our Tech Support at (570) 546-9663 for
assistance.

7. Press the TIMER button on the control box

and cycle through each of the times to make
sure the indicators light.

8. Press the TIMER button on the remote con-

trol and cycle through the times in the same
manner as Step 7.

9. Toggle the ON/OFF button on both the con-

trol box and the remote control to make sure
they are working properly.

Note: For proper operation, the impeller
inside the blower housing must be rotating
counterclockwise. Since the motor and impel-
ler are directly connected, you will verify in
the next step that the motor is rotating in the
correct direction.

Keep in mind that if the motor is rotating in
the incorrect direction, the dust collector will
still operate but with drastically reduced per-
formance.

AWARNING

If any part of your body contacts the spin-
ning impeller, severe cutting or amputation
injuries could occur. Always keep well away
from the impeller and never use any tools
near the impeller when the machine is con-
nected to power.

-33-

Download from Www.Somanuals.com. All Manuals Search And Download.



10.

-34-

Safely use a ladder so that you can observe
the motor fan through the top motor cover.
Stay clear of the motor, then use the remote
control to turn the motor ON and OFF while
you note the fan rotation direction.

—If the motor fan is rotating counterclock-
wise while looking down on it, the rotation
direction is correct.

—If the motor fan is rotating clockwise, the
rotation direction is incorrect and the motor
is receiving power out-of-phase. You will
need to perform the Correcting Phase
Polarity procedure on Page 15 so that the
impeller will rotate in the correct direction.

A

11. For the G0638 only:

a.

b.

Turn the machine OFF.

Press the EMERGENCY STOP but-
ton in.

Turn the machine ON-—nothing
should happen.

Turn the machine OFF.
Pop the EMERGENCY STOP but-
ton out by twisting the knurled knob

clockwise.

Pressing the ON/OFF button should
now turn the dust collector ON.

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



SECTION 4: DESIGNING THE
SYSTEM

General

A CAUTION

Always guard against stat-
ic electrical build up by
grounding all dust collec-
tion lines.

The Model G0637/G0638 is designed to be a cen-
tral dust collector system. Install the dust collector
in an out of the way location such as a corner
or separate room. The large suction capacity of
the Model G0637/G0638 allows great flexibility
in planning and designing of your dust collection
duct layout. Grizzly offers a complete line of dust
collection accessories for setting up a stationary
system. Additionally, Grizzly offers a complete
guide book titled Dust Collection Basics.

Whatever system design you choose, always
make sure there are no open flames (including
pilot lights) in the same room as the dust col-
lector; otherwise you risk an explosion if dust is
dispersed into the air.

Model G0637/G0638 (Mfg. Since 04/12)

A

Duct Material

You have many choices regarding main line and
branch line duct material. For best results, use
metal duct for the main line and branch lines, then
use short lengths of flexible hose to connect each
machine to the branch lines.

Plastic duct is also a popular material for home
shops. However, be aware that there is a fire or
explosion hazard if plastic duct material is used
for dust collection without being grounded against
static electrical charge build-up. This topic will be
discussed later in this section. Another problem
with using plastic is that it is less efficient per foot
than metal.

A CAUTION

Plastic duct generates static
electrical buildup that can
cause fire or shock. Properly
ground it to reduce this risk.

Plastic Duct

The popularity of plastic duct is due to the fact
that it is an economical and readily available
product. It is also simple to assemble and easily
sealed against air loss. The primary disadvantage
of plastic duct for dust collection is the inherent
danger of static electrical build-up.

' 1 DusT COLLECTION
1 ACCESSORIES KIT#2
CONN

Figure 57. Examples of plastic ducting
components.

-35-

Download from Www.Somanuals.com. All Manuals Search And Download.



Metal Duct

Advantages of metal duct is its conductivity and
that it does not contribute to static electrical
charge build-up. However, static charges are still
produced when dust particles strike other dust
particles as they move through the duct. Since
metal duct is a conductor, it can be grounded quite
easily to dissipate any static electrical charges.

Figure 58. Examples of metal pipe and
components.

There are a number of options when it comes to
metal duct, but metal duct that is specially manu-
factured for dust collection is the best choice.
When selecting your metal duct, choose high
quality metal duct with smooth welded internal
seams that will minimize airflow resistance. This
type of duct usually connects to other ducts
or elbows with a simple, self-sealing clamp, is
very quick and easy to assemble, and can be
readily dismantled and re-installed. This is espe-
cially important if you ever need to change things
around in your shop or add more tools.

Avoid inferior metal duct that requires you to cut it
to length and snap it together. This type of duct is
time consuming to install because it requires you
to seal all the seams with silicone and screw the
components on the ends with sheet metal screws.
Another disadvantage is the rough internal seams
and crimped ends that unavoidably increase static
pressure loss.

-36-

A

Flexible Duct

Flexible hose is generally used for short runs,
small shops and at rigid duct-to-tool connections.
There are many different types of flex hose on
the market today. These are manufactured from
materials such as polyethylene, PVC, cloth hose
dipped in rubber and even metal, including steel
and aluminum.

The superior choice here is metal flex hose that is
designed to be flexible, yet be as smooth as pos-
sible to reduce static pressure loss.

> il AL L
2= b .,.,,r.u.1u..uJu.|.1;ﬂnuuutﬁ““”""'“ 1, Ty,
‘A_\_‘I\\ of 4

Figure 59. Example of flexible metal duct.

There are also many kinds of pure plastic flexible
hose, such as non-perforated drainage type hose
and dryer vent hose. Drainage type hose, while
being economical, does not quite have the flex-
ibility required for dust collection. The inside of the
duct is also deeply corrugated and can increase
the static pressure loss by as much as 50% over
smooth wall duct. Dryer vent hose, while being
completely flexible, is non-resistant to abrasion
and has a tendency to collapse in a negative
pressure system. We DO NOT recommend using
dryer vent hose in your dust collection system.

If using flex-hose, you should choose one of the
many types that are designed specifically for the
movement of solid particles, i.e. dust, grains,
and plastics. However, the cost of specifically
designed flexible duct can vary greatly. Grizzly
offers polyethylene hose, which is well suited for
the removal of particulate matter, especially saw-
dust, since it is durable and completely flexible.
Polyethylene is also very economical and avail-
able in a wide variety of diameters and lengths for
most applications.

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



System Design

Decide Who Will Design

For most small-to-medium sized shops, you can
design and build the dust collection system your-
self without hiring engineers or consultants. We
have included some basic information here to get
you started on a basic design.

If you have a large shop or plan to design a com-
plicated system, we recommend doing additional
research beyond this manual or seeking the help
of an expert.

Sketch Your Shop Layout

When designing a successful dust collection sys-
tem, planning is the most important step. In this
step, sketch a basic layout of your shop, including
space requirements of different machines.

Before you get out your pencil and paper, we rec-
ommend you visit our FREE Workshop Planner
available on our website at www.grizzly.com.

Our Workshop Planner will allow you to quickly
and easily design and print a basic shop layout.
Don't worry, non-Grizzly brand machines can be
substituted with Grizzly machines for layout pur-
poses. Note: After you're finished, make sure to
save your layout for later modification.

Your sketch only needs the basic details of the
shop layout, similar to the Figure below, includ-
ing all your current/planned machines and your
planned placement of the dust collector.

== 00

Dust
Collector

LJHEI
[=

5 B m

Figure 60. Basic sketch of shop layout.

Model G0637/G0638 (Mfg. Since 04/12)

A

Sketch a Basic Duct Layout

For the next step, sketch how you will connect
your machines to the dust collector. Consider
these general guidelines for an efficient system:

1. Machines that produce the most saw dust
should be placed nearest to the dust collector
(i.e. planers and sanders).

2. Ideally, you should design the duct system
to have the shortest possible main line and
secondary branch ducts. See the Figures
below for ideas of efficient versus inefficient
duct layouts.

=== 0O
Branch
Line
Ducts

PN
ill Dust
/ Collector

Main
Line Duct

7 B o

Figure 61. Efficient duct layout.

= W

GOOD

LIHI

Dust
Collector

BAD

Il\m\l
=

2 B oo

Figure 62. Inefficient duct layout.

-37-

Download from Www.Somanuals.com. All Manuals Search And Download.



3. Directional changes should be kept to a mini-
mum. The more directional change fittings
you use directly increases the overall resis-
tance to airflow.

4. Gradual directional changes are more effi-
cient than sudden directional changes (i.e.
use the largest corner radius possible when
changing hose or pipe direction).

5. Each individual branch line should have a
blast gate immediately after the branch to
control suction from one machine to another.

6. The simpler the system, the more efficient
and less costly it will be.

Determine Required CFMs

Since each machine produces a different amount
of sawdust, the requirements for the minimum
amount of CFM to move that sawdust is unique
to the machine (for example, a planer produces
more sawdust than a table saw). Knowing this
required CFM is important to gauging which size
of duct to use.

Refer to the Figure below for a close estimation of
the airflow each machine requires. Keep in mind
that machines that generate the most sawdust
should be placed closest to the dust collector.
If the machine has multiple dust ports, the total
CFM required is the sum of all ports.

If the machine does not have a built-in dust port,
use the following table to determine which size of
dust port to install.

Machine Average Dust Port Size
Table SaW.......cccueveiiiieei e 4"
Miter/Radial-Arm Saw...........cccccieeeeeeeiienenes 2"
Jointer (6" and smaller) .......cccccceeveeeeeiiiineen. 4"
Jointer (8"-12") ..o 5"
Thickness Planer (13" and smaller)............... 4"
Thickness Planer (14"-20") ......covvviiiiiiiiiinnnen. 6"
Shaper...ccooiii 4"
Router (mounted to table)...........cccccvvvvvvennnnns 2"
BandSaw...........uuueeeiiiiii e 4"
Lathe. .. e 4"
Disc Sander (12" and smaller)...........ccceeennn. 2"
Disc Sander (13-18")....coevviiiiiiiiiiieeeee s 4"
Belt Sander (6" and smaller) ........ccccceeeeeeennes 2"
Belt Sander (7"-9") ... 3"
Edge Sander (6" x 80" and smaller).............. 4"
Edge Sander (6" x 80" and larger) ................ 5"
Drum Sander (24" and smaller)............... 2x4"
Drum Sander (24" and larger) ................. 4 x 4"
Widebelt Sander (18" and smaller)................ 5"

Widebelt Sander (24"-37" single head) ...2 x 6"
Widebelt Sander (24"-51" double head) ..5 x 4"

Figure 64. Dust port size and quantity per
average machine.

Write the required CFM for each machine on your
sketch, as shown in the Figure below.

Jointer Sander

Planer/ d N
Moulder @
395 395 790

Miter
Saw Dust
98 Collector

220 [=1395 614
=)

Shaper Table Saw Planer

Machine Approximate
Dust Port Size Required CFM
2" 98
2.5" 150
3" 220
4" 395
5" 614
6" 884
7" 1203
8" 1570
9" 1990
10" 2456

Figure 63. Approximate required airflow for
machines, based on dust port size.

-38-

Figure 65. CFM requirements labeled for each
machine.

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



Determining Main Line Duct Size

The general rule of thumb for a main line duct is
that the velocity of the airflow must not fall below
3500 FPM.

For small/medium sized shops, using the inlet size
of the dust collector as the main line duct size
will usually keep the air velocity above 3500 FPM
and, depending on your system, will allow you to
keep multiple branches open at one time.

Mark your drawing, as shown in the Figure below,
but using the inlet size for your dust collector as
the main line.

B === [
5II 6II 7II Dust
Collector
|

% i [@H

Figure 66. Main line size labeled on sketch.

Determining Branch Line Duct Size

The general rule of thumb for a branch line duct is
that the velocity of the airflow must not fall below
4000 FPM.

For small/medium sized shops, using the dust
port size from the machine as the branch line duct
size will achieve the correct velocity in most appli-
cations. However, if the dust port on the machine
is smaller than 4", make the branch line 4" and
neck the line down right before the dust port.

Note: Systems with powerful dust collectors work
better if multiple blast gates are left open. This
also allows you to run two machines at once.
Experiment with different combinations of blasi
gates open/closed to find the best results for your
system.

Write your determined branch line sizes on your
drawing, as shown in the following Figure.

Model G0637/G0638 (Mfg. Since 04/12)

.. =2 [

4II 4II 6"

4" Dust
Collector
4II 4II 5II

F o

Figure 67. Branch line duct sizes labeled.

If two machines will connect to the same branch
line and both will operate at the same time, then
add the required CFM for each machine together
and find the closest total CFM in the table below
to determine the correct branch size.

If both machines will never run at the same time,
reference the machine with the biggest dust port
in the table below and add blast gates after the
Y-branch to open/close the line to each machine.

Total CFM Branch Line Size
400 4"
500 4"
600 5"
700 5"
800 6"
900 6"
1000 6"

Figure 68. Sizing chart for multiple machines on
the same branch line.

-390-

Download from Www.Somanuals.com. All Manuals Search And Download.



Planning Drop Downs

Plan the drop downs for each machine, using
blast gates wherever possible to control airflow.

L
/ﬁh Elbow
Rigid Pipe A
(Main Line)
Y Branch

~— Rigid Pipe

Clamp —»=

= /1+—0PBlast Gate

Flex Pipe —

Y

To Planer

Figure 69. Drop down setup.

Calculating Duct Resistance

Adding duct work, elbows, branches and any
other components to a duct line increases airflow
resistance (static pressure loss). This resistance
can be minimized by using rigid (smooth) pipe and
gradual curves, as opposed to flexible pipe and
90° elbows.

To help you think about this resistance, imagine
riding a bicycle in a tunnel that is an exact replica
of your duct work. If the inside of the tunnel is very
bumpy (flexible pipe) and has a lot of sharp turns
(90° elbows), it will take a lot more effort to travel
from one end to the other.

The purpose of calculating the resistance is to
determine if it is low enough from the machine to
the dust collector to meet the given CFM require-
ment for the machine. Use the following tables to
calculate the resistance of duct work.

-40-

A

Duct Approximate Approximate
Dia. Static Pressure | Static Pressure
Loss Per Foot of [ Loss Per Foot
Rigid Pipe of Flex Pipe
Main Branch Main Branch
Lines Lines Lines Lines
at 3500 | at 4000 | at 3500 | at 4000
FPM FPM FPM FPM
2" 0.091 0.122 0.35 0.453
2.5" 0.08 0.107 0.306 0.397
3" 0.071 0.094 0.271 0.352
4" 0.057 0.075 0.215 0.28
5" 0.046 0.059 0.172 0.225
6" 0.037 0.047 0.136 0.18
7" 0.029 0.036 0.106 0.141
8" 0.023 0.027 0.08 0.108
9" 0.017 0.019 0.057 0.079
Fitting 90° 45° 45° 90°
Dia. Elbow | Elbow | Wye(Y) | Wye(Y)
3" 0.47 0.235 | 0.282 0.188
4" 0.45 0.225 | 0.375 0.225
5" 0.531 0.266 | 0.354 0.236
6" 0.564 | 0.282 0.329 0.235
7" 0.468 | 0.234 | 0.324 0.216
8" 0.405 | 0.203 | 0.297 0.189

Figure 70. Static pressure loss charts.

In most small/medium shops it is only necessary
to calculate the line with the longest duct length or
the most fittings (operating under the assumption
that if the line with the highest resistance works,
the others will be fine).

To calculate the static pressure of any given
line in the system, follow these steps:

1. Make a list of each size duct in the line,
including the length, and multiply those num-
bers by the static pressure value given in the
previous table.

2. List each type of elbow or branch and multiply

the quantity (if more than one) by the static
pressure loss given in the previous table.

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



3. Add the additional factors from the following-
table to your list.

Additional Factors Static Pressure

Seasoned (well used)
Dust Collection Filter

.1||

Entry Loss at Large
Machine Hood

Figure 71. Additional factors affecting static
pressure.

2II

4. Total your list as shown in the example below
to come up with your overall static pressure
loss number for that line.

Note: Always account for a seasoned filter,
so you don't end up with a system that only

works right when the filter is clean.

Main Line

6" Rigid Pipe (0.037) at 20" ................ 0.740
Branch Line

4" Rigid Pipe (0.075) at 10" ................ 0.750
4" Flex Pipe (0.28) at5' .....cccvevviiiieenne 1.400
Elbows/Branches

6" 45° Y-Branch ..o, 0.329
4" 45° EIDOW oo 0.225
Additional Factors

Seasoned Filter ..o, 1.000
Total Static Pressure LOSS .....cccccuuueee 4.444

Figure 72. Totaling static pressure numbers.

Note: When calculating static pressure loss
to determine if multiple lines can be left open
at the same time, only include the main line
numbers once.

Model G0637/G0638 (Mfg. Since 04/12)

A

Compare the total static pressure loss for that
line to the closest CFM given in Figure 74 or
75 for your dust collector on Page 42.

Example: A typical Data Sheet Performance
Curve is illustrated in Figure 73. Find 4.4 on
the Static Pressure axis (the amount of total
static pressure loss calculated in Figure 72),
then refer to the closest value on the CFM
axis—approximately 1120 CFM.

The 1120 CFM for the static pressure loss of
the line connected to the router is well above
the 220 CFM requirement of that machine.

Performance Curve
2250
2000 Cgsl\eASt
1750
1500 1354 -~ (1120)
o
1250 T~
T~
1000 AT
1 I
2 |44sP ! N
| Loss N_} ~N
250 —
o L T 1 ™
* 0.0 1.0 2.0 3.0 4.0: 5.0 6.0 7.0 8.0 9.0 10.0 11.0
CFM STATIC PRESSURE (Inch/H20) —>

Figure 73. CFM for static pressure loss of line

connected to a dust collector & router.

—If the CFM for your static pressure loss
is above the requirement of the machine
connected to the end of that branch line,
then dust collection will most likely be
successful. Congratulations! You've just
designed your own dust system. Refer to
the Accessories section on Page 44 to
start buying the components necessary to
make your system a reality.

—If the CFM for your static pressure loss is
below the requirement of the machine, then
that line will not effectively collect the dust.
You must then modify some of the factors
in that line to reduce the static pressure
loss. Some of the ways to do this include 1)
installing larger duct, 2) reducing amount of
flexible duct used, 3) increasing machine
dust port size, 4) moving machine closer to
dust collector to eliminate duct length, and
5) reducing 90° elbows or replacing them
with 45° elbows.

-41-

Download from Www.Somanuals.com. All Manuals Search And Download.



G0637 Performance Curve

3600

34?8 &

3200 —3330

3@6\

2800

2400 2631

|

1600 N

1200

u

3 4 5 6 7 8 9 10 " 12 13 14

STATIC PRESSURE (Inch/H20) —>

2 HP GRIZZLY DUST COLLECTOR PERFORMANCE RESULTS
Max CFM |Max SP | HP Volts Inlet Impeller
3468 14.7 7.5HP | 220/440V |10" 18"
Restrictor Plate " " " " " "
Diameter (inch) 10 9 8 7 6 5
Static Pressure

(Inch/H20) 4.3 4.5 6.02 |8.11 10.7 |12.39
CFM 3468 3330 |3090 |2631 |2086 |1460

The airflow test probe is located 1.5x duct diameter upstream from
the air inlet. Test pipe length is a minimum of 10x duct diameter.

Figure 74. G0637 performance curve chart and
data.

G0638 Performance Curve

4200

.\iloso

3800

N

3400 —3636

\.\
3200 3322

2707

2400

2232

2000

u

2 3 4 5 6 7 8 9 10 1 12 13

STATIC PRESSURE (Inch/H20) —>

2 HP GRIZZLY DUST COLLECTOR PERFORMANCE RESULTS
Max CFM |Max SP | HP Volts Inlet Impeller
3450 16.8 10HP | 220/440V |12" 18-1/2"
Restrictor Plate B B B B " B
Diameter (inch) 12 10 9 8 ’ 6
Static Pressure | 5 54 | 361 | 52 | 7.31 | 10.2 | 12.81
(Inch/H20)

CFM 4030 | 3635 | 3322 | 3119 | 2707 | 2232

The airflow test probe is located 1.5x duct diameter upstream from
the air inlet. Test pipe length is a minimum of 10x duct diameter.

Figure 75. G0638 performance curve chart and
data.

-42-

A

Example Materials List

After the system is designed, create a materials
list of all the items you will need to build your dust
collection sytem. This will make it easy when it
comes time to purchase the materials.

Below is an example of some items that might be
needed. Refer to Accessories for dust collection
components available through grizzly.com.

Description Model Quantity
6" Rigid Pipe at 20' G7364 4
4" Rigid Pipe at 10' G6162 2
4" Flex Hose at 5' H7215 6
6" 45° Y-Branch G7353 6
4" 45° Elbow G6167 6
Figure 76. Example of dust collection system
material list.

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



System Grounding

Since plastic hose is abundant, relatively inex-
pensive, easily assembled and air tight, it is a
very popular material for conveying dust from
woodworking machines to the dust collector. We
recommend using flexible hose (flex-hose) to
connect the woodworking machine to the dust
collector. However, plastic flex-hose and plastic
duct are an insulator, and dust particles moving
against the walls of the plastic duct create a static
electrical build up. This charge will build until it
discharges to a ground. If a grounding medium
is not available to prevent static electrical build
up, the electrical charge will arc to the nearest
grounded source. This electrical discharge may
cause an explosion and subsequent fire inside
the system.

To protect against static electrical build up inside
a non-conducting duct, a bare copper wire should
be placed inside the duct along its length and
grounded to the dust collector. You must also
confirm that the dust collector is continuously
grounded through the electrical circuit to the elec-
tric service panel.

If you connect the dust collector to more than one
machine by way of a non-conducting branching
duct system and blast gates, the system must still
be grounded as mentioned above. We recom-
mend inserting a continuous bare copper ground
wire inside the entire duct system and attaching
the wire to each grounded woodworking machine
and dust collector.

A CAUTION

Always guard against
static electrical build up
by grounding all dust
collection lines.

Model G0637/G0638 (Mfg. Since 04/12)

A

Be sure that you extend the bare copper wire
down all branches of the system. Do not forget
to connect the wires to each other with wire nuts
when two branches meet at a “Y” or “T” connec-
tion.

Ensure that the entire system is grounded. If using
plastic blast gates to direct air flow, the ground-
ing wire must be jumped (see the Figure below)
around the blast gate without interruption to the
grounding system.

Plastic Blast
Gate

Metal Duct

Copper
Ground Wire

Figure 77. Ground jumper wire when using
plastic blast gates and metal duct.

We also recommend wrapping the outside of all
plastic ducts with bare copper wire to ground the
outside of the system against static electrical build
up. Wire connections at Y’s and T’s should be
made with wire nuts.

Attach the bare ground wire to each stationary
woodworking machine and attach to the dust
collector frame with a ground screw as shown in
the Figure below. Ensure that each machine is
continuously grounded to the grounding terminal
in your electric service panel.

External
Ground Wire

Internal
Ground Wire

Ground
.~ Screw

-43-

Download from Www.Somanuals.com. All Manuals Search And Download.



SECTION 5: ACCESSORIES

H5293—4" Metal Duct Starter Kit
H5295—5" Metal Duct Starter Kit
H5297—6" Metal Duct Starter Kit

Save over 20% with this great starter kit.
Includes: (2) machine adapters, (10) pipe
clamps, (3) 5' straight pipes, (1) branch, (3)
pipe hangers, (1) end cap, (3) adjustable
nipples, (1) 90° elbow, and (1) 60° elbow.

Figure 79. Metal Duct Starter Kit.

H5294—4" Metal Duct Machine Addition Kit
H5296—5" Metal Duct Machine Addition Kit
H5298—6" Metal Duct Machine Addition Kit
Save over 20% with this great machine addi-
tion kit. Includes: (2) blast gates, (1) machine
adapter, (10) pipe clamps, (2) pipe hangers,
(2) 5' straight pipes, (2) adjustable nipples, (1)
branch, and (1) 60° elbow.

Figure 80. Metal Duct Machine Addition Kit.

-44-

A

G6162—4" x 5' Straight Metal Pipe
G7346—5" x 5' Straight Metal Pipe
G7364—6" x 5' Straight Metal Pipe
H5227—7" x 5' Straight Metal Pipe
H5237—8" x 5' Straight Metal Pipe
H5252—9" x 5' Straight Metal Pipe

These laser welded straight pipes ensure
a super smooth internal seam. Ends easily
clamp together for a sealed fit without screws
or silicone.

Figure 81. Straight Metal Pipe.

H7216—5" x 5' Rigid Metal Flex Hose
H7217—6" x 5' Rigid Metal Flex Hose
H7218—7" x 5' Rigid Metal Flex Hose
H7219—8" x 5' Rigid Metal Flex Hose
H7220—9" x 5' Rigid Metal Flex Hose
This flex hose provides just enough flexibility
to make difficult connections while still keep-
ing the inside wall as smooth as possible to
minimize static pressure loss.

'&"D.i'ﬁ),ﬂ*wﬂ)))))

Figure 82. Rigid Metal Flex Hose.
Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.




Metal Elbows

These industrial metal elbows are available
from 4"-8" with 90°, 60°, 45°, or 30" curves.
Also, available with a 90° long radius curve.
Call (800) 523-4777 or visit www.grizzly.
com for more information and pricing.

90° Long Radius

wf}

26 &

Figure 83. Metal elbow examples.

G6177—4" Metal Blast Gate
G7340—5" Metal Blast Gate
G7358—6" Metal Blast Gate
H5234—7" Metal Blast Gate
H5249—8" Metal Blast Gate
H5259—9" Metal Blast Gate

Figure 84. Metal Blast Gate.

Galll 1=-800-828-4777 To

Model G0637/G0638 (Mfg. Since 04/12)

A

Metal Branches
We carry many different branches, all
designed to minimize airflow resistance.

Figure 85. Metal Branches.

Reducers & Adapters
We carry a multitude of reducers and elbows
to cover most applications from 4" through 9".

Figure 86. Metal Reducers & Adapters.

G6252—4" Floor Sweep

G7341—5" Floor Sweep

G7342—6" Floor Sweep

Great for cleaning up around the shop, these
metal floor sweeps close tight when not in use.

Figure 87. Industrial Floor Sweep.

-45-

Download from Www.Somanuals.com. All Manuals Search And Download.



SECTION 6: OPERATIONS

Operation Safety NOTICE

If you have never used this type of machine

or equipment before, WE STRONGLY REC-
OMMEND that you read books, trade maga-
zines, or get formal training before begin-
ning any projects. Regardless of the con-
tent in this section, Grizzly Industrial will
not be held liable for accidents caused by
lack of training.

AWARNING

Damage to your eyes, lungs, and ears could
result from using this machine without
proper protective gear. Always wear safety
glasses, a respirator, and hearing protection
when operating this machine.

General

Operating your Model G0637/G0638 is simple
and straightforward. Blast gates located at each

of the machines controls the air flow from the

AWARNING

Do NOT put hands or
small objects near inlet
openings during opera-
tion. Objects sucked
into the inlet will meet
with the impeller blade.
Failure to heed this
warning could result in
property damage or per-
sonal injury.

A CAUTION

DO NOT use the dust collector for any
other purpose besides collecting dust from
connected woodworking machines. A dust
collector should NEVER be used as a shop
vacuum and IS NOT a substitute for an air
filter system. For safest use, wear a respira-
tor and use an air cleaner in addition to the
dust collector.

-46-

woodworking machine to the dust collector. If a
machine is not being used, keep the blast gate
closed to maintain higher levels of efficiency
throughout the system.

Remote Control

The remote control for the Model G0637/G0638
is IR (infrared) rather than RF (radio frequency) to
prevent accidental startups by other common RF
items like garage door openers.

Because this remote system is IR, the remote
control must be pointing directly at the control box
with an unobstructed line-of-sight view.

If you place your dust collector in a different room
or outside of your shop, you must mount the switch
in the shop and wire it through the wall to the dust
collector to make use of the remote control.

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



SECTION 7: MAINTENANCE

AWARNING

Always disconnect power
to the machine before
performing maintenance.
Failure to do this may
result in serious person-
al injury.

Schedule

For optimum performance from your machine,
follow this maintenance schedule and refer to any
specific instructions given in this section.

Daily Check:

e Dust collector is completely powered down at
the end of use.

Dust collection drums and bags.

Loose mounting bolts.

Pressure leaks.

Worn or damaged wires.

Any other condition that would hamper the
safe and efficient operation of this machine.

Emptying Drums

Empty the collection drums when they are % full
or less. If the drums become overfilled, the dust
will be sucked into the intake barrel and passed
through to the canister filters.

How quickly the drum will fill up is based on the
type of work being done at the time:

° Fine dust from a sander or table saw will
slowly fill the drums.

e Curly shavings from a planer or jointer will
quickly fill the drums.

In the beginning, check your drums regularly to get
an idea of how often they need to be emptied.

Model G0637/G0638 (Mfg. Since 04/12)

Cleaning Filters

The Model G0637/G0638 dust collector has a
gentle brush system inside the canisters for
removing any built-up dust from the filter pleats.

A CAUTION

To avoid damage to your
eyes and lungs, always
wear safety glasses and
a respirator when working
with the dust collection
bags.

Red
Handle

Black
Handle

Figure 88. Brush handles for cleaning canister
filters.

To clean the filters, pull the red handles down all
the way, then pull the black handles down and
hook them in place.

Note: Always make sure to leave the red handles
in the up position to ensure that the brushes return
to their proper position and do not restrict the fil-
ter.

-47-

Download from Www.Somanuals.com. All Manuals Search And Download.



Rinsing Filter

For a thorough cleaning, the filter can be removed
and rinsed off. However, make sure to clean the
filter with the brush system first. Allow the filter to
air dry, but never leave the filter in the sun to dry
or it could become damaged.

Removing/Replacing
Filter

The filter for canister filter assemblies manufac-
tured since November, 2009, can be removed
from the assembly so that it can be replaced or
rinsed off (see the instructions in the next subsec-
tion).

Removing/installing the filter requires removing
the canister filter assembly from the dust collec-
tor and disassembling it. Follow the instructions
below to perform this procedure.

Refer to the parts breakdown diagrams and list-
ings beginning on Page 59 to order the correct
filter from Grizzly at (800) 523-4777.

Tools Needed Qty
Open-End Wrench 10mm.........cccoeeeeeeeiieeeeeeeen, 1
Wrench or Socket 12mm ........ccccoeviiiiiiiiieennnenn. 2

To replace the canister filter:
1. DISCONNECT MACHINE FROM POWER!

2. Remove the bag clamp and collection bag
from the canister assembly.

-48-

A

3.

Pull the black handle all the way down and
secure the cable into the handle hook at the
bottom of the canister assembly, as shown in
Figure 89, to hold it in place during the fol-
lowing steps.

3
P Red

Handle

3]

.0,
| e *e®

EE AR
‘0’0‘}"

4
’

e

Black
Handle

Figure 89. Black handle cable secured in the

handle hook.

Remove the canister assembly from the
dust collector and place it right-side up on a
stable, flat surface.

Remove the six hex bolts, hex nuts, and flat
washers from the rim of the canister base, as
shown in Figure 90.

Canister
Base

Figure 90. Removing the hex nuts and flat
washers from the rim of the canister base.

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



6. With help from another person to steady the
canister assembly, turn it upside down and
remove the two M8-1.25 x 20mm hex bolts,
hex nuts, and flat washers from the cross
support (see Figure 91), then remove the
canister base from the assembly.

Figure 91. Cross support fasteners.

7. Carefully lift the filter from the canister assem-
bly, as shown in Figure 92.

\

'\\"" ip ¥

) o

‘ll“

Figure 92. Removing the filter from the canister
assembly.

DR

Model G0637/G0638 (Mfg. Since 04/12)

A

Before re-inserting a filter into the assembly,
make sure that the filter brush base is aligned
with two of the fastener holes around the
base of the assembly (see Figure 93). This
will allow the canister base to align with the
fastener holes around the brush base.

10.

11.

Figure 93. Filter brush base aligned with
assembly fastener holes.

Re-insert a filter into the canister assembly.
Note: Make sure the bristles of the brush are
straight to ensure efficient cleaning of the

filter when needed.

Re-attach the canister base in the reverse
order that you removed it.

Re-attach the canister assembly to the dust

collector, then re-install a fresh collection bag
with the bag clamp.

-49-

Download from Www.Somanuals.com. All Manuals Search And Download.



SECTION 8: SERVICE

Review the troubleshooting and procedures in this section to fix or adjust your machine if a problem devel-
ops. If you need replacement parts or you are unsure of your repair skills, then feel free to call our Technical
Support at (570) 546-9663.

Troubleshooting

-

Motor & Electrical

E)

Symptom

Possible Cause

Possible Solution

Machine does

1.

Fuse has blown.

. Correct short/replace fuse in control box.

not start or a 2. Emergency stop push-button is 2. Rotate clockwise slightly until it pops out/replace it.
breaker trips. engaged/faulty (G0638 only).

3. Hand-held remote controller is at fault. 3. Replace batteries in hand-held remote
controller; stay in line-of-sight view and signal
range.

4. Receiver is at fault. 4. Inspect receiver computer board; replace if faulty.

5. Motor connection wired incorrectly. 5. Correct motor wiring connections (Pages 55 & 58).

6. Wall fuse/circuit breaker is blown/tripped. 6. Ensure circuit size is suitable for this machine;
replace weak breaker.

7. Thermal overload relay has tripped. 7. Turn cut-out dial to increase working amps and
push the reset pin. Replace if tripped multiple
times (weak relay).

8. Contactor not getting energized/has 8. Test for power on all legs and contactor

burnt contacts. operation. Replace unit if faulty.

9. Power supply switched OFF or is at fault. 9. Ensure power supply is switched on; ensure
power supply has the correct voltage.

10. Wiring is open/has high resistance. 10. Check for broken wires or disconnected/
corroded connections, and repair/replace as
necessary.

11. Motor ON button or ON/OFF switch is 11. Replace faulty ON button or ON/OFF switch.

at fault.

12. Emergency stop push-panel is stuck/ 12. Free push-panel from binding; replace faulty switch.

switch is at fault.

13. Transformer is at fault. 13. Replace transformer. Refer to Pages 14 and
52 for more detailed information.

14. Computer board is at fault. 14. Inspect computer board; replace if faulty.

15. Inverter/control box is at fault. 15. Inspect inverter/control box; replace if faulty.

16. Motor is at fault. 16. Test/repair/replace.

17. Start delay module is at fault. 17. Adjust to correct delay; replace module.

Machine has 1. Motor or component is loose. 1. Inspect/replace stripped or damaged bolts/
vibration or nuts, and re-tighten with thread locking fluid.
noisy operation. 2. Motor mount loose/broken. 2. Tighten/replace.

3. Machine is incorrectly mounted or sits 3. Tighten/replace anchor studs in floor; relocate/

unevenly. shim machine.

4. Motor fan is rubbing on fan cover. 4. Replace dented fan cover; replace loose/
damaged fan.

5. Motor bearings are at fault. 5. Test by rotating shaft; rotational grinding/loose

shaft requires bearing replacement.

-50-

A

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



Dust Collector Operation

Symptom

Possible Cause

Possible Solution

Loud, repetitious
noise, or excessive

1.

Dust collector is not on a flat surface and
wobbles.

1.

Stabilize the dust collector.

damaged.

vibration coming 2. Impeller is damaged and unbalanced. 2. Disconnect dust collector from power, and inspect
from dust collector. the impeller for dents, bends, loose fins. Replace
impeller if any damage is found.

3. The motor mounting or housing 3. Make sure all fasteners on the dust collector are
connections are loose. tight.

4. Impeller is loose on the motor shaft. 4. Replace the motor and impeller as a set if the

motor shaft and the impeller hub are damaged.

5. Motor fan cover is dented, causing the 5. Replace motor fan cover.
motor fan to hit the cover while spinning.

Dust collector does | 1. Dust collection bags are full. 1. Empty collection bags.

not adequately 2. Filter is dirty. 2. Cleanfilter.

collect dust 3. There is a restriction in the duct line. 3. Remove dust line from dust collector inlet and

or chips; poor unblock the restriction in the duct line. A plumbing
performance. snake may be necessary.

4. The dust collector is too far away from 4. Relocate the dust collector closer to the point of
the point of suction, or there are too many suction, and rework ducting without sharp bends.
sharp bends in the ducting. Refer to Designing the System, beginning on

Page 35.

5. The lumber is wet and dust is not flowing | 5. Process lumber with less than 20% moisture
through the ducting smoothly. content.

6. There is a leak in the ducting, or a series | 6. Rework the ducting to eliminate all leaks. Close
of small leaks, or too many open ports. dust ports for lines not being used. Refer to

Designing the System beginning on Page 35 for
more solutions.

7. There are not enough open branch lines at | 7. Open 1 or 2 more blast gates to different branch
one time, thereby causing a velocity drop lines to allow the velocity in the main line to
in the main line. increase.

8. The ducting and ports are incorrectly 8. Reinstall correctly sized ducts and fittings. Refer to
sized. Designing the System beginning on Page 35 for

more solutions.

9. The machine dust collection design is 9. Use a dust collection nozzle on a stand.
inadequate.

10. The dust collector is too small for the dust | 10. Install a larger dust collector to power your dust
collection system. collection system.

Sawdust being 1. Duct clamps or dust collection bags are 1. Re-secure ducts and dust collection bag, making
blown into the not properly clamped and secured. sure duct and bag clamps are tight and completely
air from the dust over the ducts and bags.

collector. 2. Cylinder or funnel seals are loose or 2. Retighten all mounting and sealing points, replace

damaged gaskets.

Model G0637/G0638 (Mfg. Since 04/12)

A

-51-

Download from Www.Somanuals.com. All Manuals Search And Download.




SECTION 9: WIRING

These pages are current at the time of printing. However, in the spirit of improvement, we may make chang-
es to the electrical systems of future machines. Study this section carefully. If there are differences between
your machine and what is shown in this section, call Technical Support at (570) 546-9663 for assistance
BEFORE making any changes to the wiring on your machine.

AWARNING
Wiring Safety Instructions

SHOCK HAZARD. Working on wiring that is con-
nected to a power source is extremely dangerous.
Touching electrified parts will result in personal
injury including but not limited to severe burns,
electrocution, or death. Disconnect the power
from the machine before servicing electrical com-
ponents!

MODIFICATIONS. Modifying the wiring beyond
what is shown in the diagram may lead to unpre-
dictable results, including serious injury or fire.
This includes the installation of unapproved after-
market parts.

WIRE CONNECTIONS. All connections must
be tight to prevent wires from loosening during
machine operation. Double-check all wires dis-
connected or connected during any wiring task to
ensure tight connections.

CIRCUIT REQUIREMENTS. You MUST follow
the requirements at the beginning of this man-
ual when connecting your machine to a power
source.

WIRE/COMPONENT DAMAGE. Damaged wires
or components increase the risk of serious per-
sonal injury, fire, or machine damage. If you notice
that any wires or components are damaged while
performing a wiring task, replace those wires or
components.

MOTOR WIRING. The motor wiring shown in
these diagrams is current at the time of printing
but may not match your machine. If you find this
to be the case, use the wiring diagram inside the
motor junction box.

CAPACITORS/INVERTERS. Some capacitors
and power inverters store an electrical charge for
up to 10 minutes after being disconnected from
the power source. To reduce the risk of being
shocked, wait at least this long before working on
capacitors.

EXPERIENCING DIFFICULTIES. If you are expe-
riencing difficulties understanding the information
included in this section, contact our Technical
Support at (570) 546-9663.

-52-

COLOR KEY
The photos and diagrams | BLACK BLUE YELLOW :@: LIGHT
included in this section are | wHTE :@: BROWN YELLOW (g BLUE
best viewed in color. You : GREEN \E,;VL|.L|J|$E
can view these pages in GREEN GRAY O PURPLE . TUR-
color at www.grizzly.com. | RED ORANGE PINK QUoise =

A

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.




G0637 Electrical Components

Figure 95. Model G0O637 motor wiring (220V). Figure 96. Model G0637 junction box wiring.
READ ELECTRICAL SAFETY
Model G0637/G0638 (Mfg. Since 04/12) ON PAGE 52! -53-

Download from Www.Somanuals.com. All Manuals Search And Download.



- G0637 Control Box
g;’t,'!%[z_ly 220 VAC Wiring Diagram

AWARNING! )

SHOCK HAZARD!
Disconnect power
before working on

wiring. '
. |
e

If connecting machine to a phase
converter, the manufactured leg

Ground
- 3-PHASE must be connected to terminal 3L/2.
Hot o
2 220 VAC

Hot
(i 2 - @ DISCONNECT
© SWITCH
(as recommended)

If motor rotates in opposite direc-
tion, swap any two power source
wires at the incoming terminals.

To Motor
(Pages 53 & 55)

& 1? 1) Wy (wy
@I @Y B &, ).

i O & & O

B 1L/1 3L/2  5L/3 13NO

OL_NO AC OUT MIN 220V Contactor
] T
— b q 5
AT e | ——d—
i NHD C-35D
= 2T/1  4T/2 6T/3 14NO
IC Control Panel - —
v
NHD
NTH-28 §
ﬁ%’l 2 quR <
— 98 || 97 || 96 95 9
I — i M @ g
8 (@ 2T |[412 613 || Q
&5 © 98
1 “
QO . | @

\ Power Switch / \ /

READ ELECTRICAL SAFETY
-54- ON PAGE 52! Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.




brizzly

Industrial, Inc.

A WARNING! )

SHOCK HAZARD!
Disconnect power
before working on

wiring. '
[} %
e

G0637 Motor
Wiring Diagram
(220V/440V)

220 VAC, 3-Phase _—

Control Box
(Pages 53 & 54)

220VAC
(Pre-Wired)

440VAC
(Optional)

These motor wiring diagrams are

current at the time of printing;

Page 15 for details.

When rewiring to 440V, you must purchase
and install the 440V Conversion Kit. Refer to

however, always use the diagram on
the inside of the junction box cover
when rewiring your motor!

Model GO637/G0638 (Mfg. Since 04/12)

READ ELECTRICAL SAFETY
ON PAGE 52! -55-

Download from Www.Somanuals.com. All Manuals Search And Download.



G0638 Electrical Components

Figure 98. Model G0638 control box cover Figure 99. Model G0638 motor wiring (220V).

(shown from back).
READ ELECTRICAL SAFETY
-56- ON PAGE 52! Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



brizzly

Industrial, Inc.

A WARNING!

SHOCK HAZARD!
Disconnect power

before working on
wiring.

N

G0638 Control Box
220 VAC Wiring Diagram

If connecting machine to a phase

converter, the manufactured leg
must be connected to terminal 3L/2.

If motor rotates in opposite direc-
tion, swap any two power source
wires at the incoming terminals.

§

OL_NO

AC OUT

IC Control Panel

ACIN

Stop

Emergency

Power Switch

@

—0 _ © 3 T
50 O © O O
U1 32 5L/3 E 0 440V 460V 480V
220V Overload Relay 5
GB gB GB ) Cg © Transformer
P BB GBI 0 2 E 110V 220V 230V
T Start Timer - @
SV, N ™ S
RO
A R
) @\ @-@
- 1 / \
AIIERSE Sy 10w o d
2 %?lﬁ? +
©eee ©oge
s 0 Jel il _ler g [ _lefl|
§ 22NC é 22NC S 22NC [J [0}
211 4T/2 6T/3 14NO 2T . . é’[g) éél’é o - o
= | o
{3 o

Model GO637/G0638 (Mfg. Since 04/12)

3-PHASE
220 VAC

DISCONNECT

SWITCH
(as recommended

To Motor
(Pages 56 & 58)

READ ELECTRICAL SAFETY
ON PAGE 52! -57-

Download from Www.Somanuals.com. All Manuals Search And Download.



ﬁ'rizz!g G0638 Motor

Industrial, Inc. Wil"ing Diag ram
AWARNING! ) (220\// 440\/)

SHOCK HAZARD!
Disconnect power
before working on

wiring. ' S
\'

Control Box
(Pages 56 & 57)

220V, 3-Phase (12G 300V)
220V, 3-Phase
[

220VAC \
(Pre-Wired) ‘ L —
(12G 300V)
L2 N
7@
When rewiring to 440V, you must| |
purchase and install the 440V| . 440V, 3-Phase (12G 600V) |
Conversion Kit. Refer to Page 14 f ””” 440V, 3-Phase (12G 600V) j
for details. T
440VAC ?
(Optional)
13
=5
These motor wiring diagrams are
current at the time of printing;
however, always use the diagram on
*— (O} *— O} e the inside of the junction box cover
@ ® @ @ @ @ when rewiring your motor!
* Safely cover wire connections with electrical tape
READ ELECTRICAL SAFETY
-58- ON PAGE 52! Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



SECTION 10: PARTS

Parts Breakdown

s

G0638 440V G0637 440V

A1V2 119V q1ovas 87 o
| ! -
—119V2-2 | 119V2-5 38 & o176
e T ‘ : A-7 _1-8 :
GOB37 220V___ \ I 19yos" € = 37 __ 4
| ava1 gy |\ 119V26
: 3va-5 ¢ N\Fo o _TIRVet
‘ @ @3V23 41AV2
|
' q g 40
‘158159>3V2-4 ‘ 19V2 - , ”’/”

19
-§__—-_——~

73V2 N 139
78 ' 157 “,
82 f i
81 91 \!B ,'"
90—+ 143

BT |\ J

goo ) \\ o144
86 | i 142
79v2 14514(;41

Model G0637/G0638 (Mfg. Since 04/12) E -59-

Download from Www.Somanuals.com. All Manuals Search And Download.



G0637 Only Parts List

REF PART # DESCRIPTION EF PART # DESCRIPTION
1 P0637001 MOTOR 7-1/2HP 220/440V 3-PH 17 PNO3-1 HEX NUT 3/4-16 LH
1-1 P0637001-1 MOTOR JUNCTION BOX 41AV2 |[(P0637041AV2 |CANISTER ASSEMBLY V2.11.09
1-2 P0637001-2 MOTOR JUNCTION BLOCK 41V2 P0637041V2 CAN. FILTER 486 X 1195MM V2.11.09
1-3 P0637001-3 MOTOR FAN COVER 41-4V2 |P0637041-4V2 |CANISTER OUTER CAGE V2.11.09
1-4 P0637001-4 MOTOR FAN 112V2 P0637112V2 CONTROL BOX BRACKET CSA V2.01.12
1-5 P0637001-5 CONTACT PLATE 116 PS06 PHLP HD SCR 10-24 X 3/8
1-6 P0637001-6 CENTRIFUGAL SWITCH 117 PWO03 FLAT WASHER #10
1-7 P0637001-7 FRONT MOTOR BEARING 118 PNO7 HEX NUT 10-24
1-8 P0637001-8 REAR MOTOR BEARING 119Vv2 P0637119V2 CONVERSION KIT 440V V2.01.12
2 P0637002 MOTOR CORD 10G 4W 300V 119V2-1 [P0637119V2-1 |MAGNETIC SWITCH COVER
3V2 P0637003V2 MAG SWITCH ASSY V2.01.12 119V2-2 [P0637119V2-2 |POWER SWITCH
3V2-1 |P0637003V2-1 |[MAGNETIC SWITCH COVER 119V2-3 [P0637119V2-3 |CONTACTOR MSN35-18D
3V2-2 |P0637003V2-2 |POWER SWITCH 119V2-4 ([P0637119V2-4 |OL RELAY NHD NTH-15 10-15A
3V2-3 |P0637003V2-3 |CONTACTOR NHD C-35D 220V 119V2-5 [P0637003V2-5 |CIRCUIT BOARD W/TRANSFORMER
3V2-4 |P0637003V2-4 |OL RELAY NHD NTH-28 24-28A 119V2-6 [P0637119V2-6 |MOTOR CORD 12G 4W 600V
3V2-5 |P0637003V2-5 |CIRCUIT BOARD W/TRANSFORMER 119V2-7 [P0637119V2-7 |SWITCH TRANSFORMER 30VA
15 P0637015 IMPELLER 18" 158 P0637158 JUNCTION BOX
16 PW13 FLAT WASHER 3/4 159 P0637159 GREEN GROUNDING WIRE 10G 6"
| ]
G0638 Only Parts List
REF PART # DESCRIPTION REF PART # DESCRIPTION
1 P0638001 MOTOR 10HP 220/440V 3-PH 3V2-7 P0638003V2-7 [CONTACTOR SHIHLIN S-P21
1-1 P0638001-1 MOTOR JUNCTION BOX 3Vv2-8 P0638003V2-8 [CONTACTOR SHIHLIN S-P16
1-2 P0638001-2 MOTOR JUNCTION BLOCK 3V2-9 P0638003V2-9 |FUSE 2AMP
1-3 P0638001-3 MOTOR FAN COVER 15 P0638015 IMPELLER 18-1/2"
1-4 P0638001-4 MOTOR FAN 16 PW19 FLAT WASHER 1-1/6
1-5 P0638001-5 CONTACT PLATE 17 PN44 HEX NUT 1-1/16-8
1-6 P0638001-6 CENTRIFUGAL SWITCH 41AV2 P0637041AV2 [CANISTER ASSEMBLY V2.11.09
1-7 P0638001-7 FRONT MOTOR BEARING 41\V2 P0637041V2 CAN. FILTER 486 X 1495MM V2.11.09
1-8 P0638001-8 REAR MOTOR BEARING 41-4V2 |P0637041-4V2 |CANISTER OUTER CAGE V2.11.09
2 P0638002 MOTOR CORD 12G 4W 300V 112V2 |P0638112V2 CONT. BOX BRACKET CSA vV2.01.12
3V2 P0638003V2 CONTROL BOX 220V V2.01.12 116 PS11M PHLP HD SCR M6-1 X 16
3V2-1 |P0638003V2-1 [CONT. BOX W/ CIRC BOARD 117 PWO06 FLAT WASHER 1/4
3V2-2 |P0638003V2-2 [POWER SWITCH 220/440V 118 PNO1M HEX NUT M6-1
3V2-3 |P0638003V2-3 [START TIMER OMRON H3BG 0-12 SEC 119V2 P0638119V2 CONVERSION KIT 440V V2.01.12
3V2-4 |P0638003V2-4 (OL RELAY SHIHLIN TH-P20 28-38 220V 119V2-1 |P0638119V2-1 [OL RELAY SHIHLIN/TH-P20S 12-18A
3V2-5 |P0638003V2-5 [TRANSFORMER 119V2-2 |P0638119V2-2 [MOTOR CORD 12G 4W 600V
3V2-6 |P0638003V2-6 [CONTACTOR SHIHLIN S-P21
| |

G0637/G0638 Common Parts List
REF PART # DESCRIPTION REF PART # DESCRIPTION
4 P0443005 REMOTE CONTROLLER 18 P0637018 GASKET 3 X 6 X 17700MM
6 P0637006 MOTOR BASE 19 P0637019 BLOWER
7 PB56 HEX BOLT 1/2-13 X 1-3/4 20 PWO07 FLAT WASHER 5/16
8 PWO1 FLAT WASHER 1/2 21 PB0O7 HEX BOLT 5/16-18 X 3/4
9 PLWO7 LOCK WASHER 1/2 22 P0637022 OUTLET PORT
10 PNO6 HEX NUT 1/2-13 23 P0637023 FOAM TAPE 3 X 15 X 700MM
11 PB56 HEX BOLT 1/2-13 X 1-3/4 24 PB03 HEX BOLT 5/16-18 X 1
12 PWO1 FLAT WASHER 1/2 25 PWO07 FLAT WASHER 5/16
13 PLWO7 LOCK WASHER 1/2 26 PNO2 HEX NUT 5/16-18
14 PNO6 HEX NUT 1/2-13 27 P0637027 RIGHT FILTER L-BRACE
O

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.




G0637/G0638

Common

Parts List

REF PART # DESCRIPTION REF PART # DESCRIPTION

28 P0637028 LEFT FILTER L-BRACE 84 PS06 PHLP HD SCR 10-24 X 3/8

29 P0637029 SHORT FILTER BRACE SUPPORT 85 PNO7 HEX NUT 10-24

30 PB21 HEX BOLT 3/8-16 X 3/4 86 PS06 PHLP HD SCR 10-24 X 3/8

31 PNO8 HEX NUT 3/8-16 87 PNO7 HEX NUT 10-24

32 PWO02 FLAT WASHER 3/8 88 P0637088 CASTER 2"

33 P0637033 LONG FILTER BRACE SUPPORT 89 PWO02 FLAT WASHER 3/8

34 PB21 HEX BOLT 3/8-16 X 3/4 90 PLWO04 LOCK WASHER 3/8

35 PWO02 FLAT WASHER 3/8 91 PNO8 HEX NUT 3/8-16

36 PNO8 HEX NUT 3/8-16 92 P0637092 CYCLONE MOUNTING BRACKET
37 P0637037 HOSE CLAMP 8" 93 PB24 HEX BOLT 3/8-16 X 1-1/4

38 P0637038 FLEXIBLE DUCT 8 X 31-1/2" 94 PWO02 FLAT WASHER 3/8

39 P0637039 NOISE MUFFLER 8" 95 PLNO1 LOCK NUT 3/8-16

40 P0637040 FLEXIBLE DUCT 8 X 4-3/4" 96 P0637096 UPPER STAND BRACE
41-1V2 [P0637041-1V2 |GASKET 3 X 25 X 1700MM V2.11.09 97V2 |P0637097V2 |UPPER STAND LEG V2.08.10
41-5V2 |P0637023 FOAM TAPE 3 X 15 X 700MM 98 PB21 HEX BOLT 3/8-16 X 3/4
41-6V2 [P0637041-6V2 [GASKET 35 X 38 X 1570MM V2.11.09 99 PWO02 FLAT WASHER 3/8

42 P0637042 RUBBER BRACE GASKET 100 PLNO1 LOCK NUT 3/8-16

43 PWO07 FLAT WASHER 5/16 101 PB21 HEX BOLT 3/8-16 X 3/4

44 PB07 HEX BOLT 5/16-18 X 3/4 102 PWO02 FLAT WASHER 3/8

45V2 |P0637045V2 |FILTER BAG CLAMP 545MM V2.11.09 103 PLNO1 LOCK NUT 3/8-16

46V2 |P0637046V2 |COLLECTION BAG 570 X 600MM V2.11.09 104 P0637104 LOWER STAND BRACE

47 P0637047 INTAKE CYLINDER 105V2 [P0637105V2 |LOWER STAND LEG V2.08.10
48 P0637048 GASKET 3 X 6 X 1800MM 106 PB21 HEX BOLT 3/8-16 X 3/4

49 PB0O7 HEX BOLT 5/16-18 X 3/4 107 PWO02 FLAT WASHER 3/8

50 PWO07 FLAT WASHER 5/16 108 PLNO1 LOCK NUT 3/8-16

51 P0637051 INTAKE BARREL 109 PB21 HEX BOLT 3/8-16 X 3/4

52V2 |P0637052V2 |LARGE CYCLONE FUNNEL V2.08.10 110 PWO02 FLAT WASHER 3/8

53 P0637053 GASKET 3 X 6 X 2500MM 111 PLNO1 LOCK NUT 3/8-16

54 PB0O7 HEX BOLT 5/16-18 X 3/4 113 PB21 HEX BOLT 3/8-16 X 3/4

55 PWO07 FLAT WASHER 5/16 114 PWO02 FLAT WASHER 3/8

56 P0637056 GASKET 3 X 6 X 2500MM 115 PNO8 HEX NUT 3/8-16

57 PB12 HEX BOLT 5/16-18 X 1-1/4 135 PTLWO04 EXT TOOTH WASHER 1/2

58 PWO07 FLAT WASHER 5/16 136 P0637023 FOAM TAPE 3 X 15 X 700MM
59 PNO2 HEX NUT 5/16-18 137 P0637137 DRUM LID HOOK

60 P0637060 GASKET 3 X 6 X 2200MM 138 P0637138 HOOK RIVET

61 P0637061 SMALL CYCLONE FUNNEL 139 P0637139 VACUUM HOSE 1-1/4" X 79"
62 PB12 HEX BOLT 5/16-18 X 1-1/4 140 P0440086 COLLECTION DRUM VACUUM PORT
63 PWO07 FLAT WASHER 5/16 141 PWO07 FLAT WASHER 5/16

64 PNO2 HEX NUT 5/16-18 142 PB07 HEX BOLT 5/16-18 X 3/4

65 P0637065 GASKET 3 X 6 X 735MM 143 P0440089 HOSE CLAMP 1-1/4"

66 P0637066 FUNNEL PORT 144 P0440083 PORT PLUG 1-1/4"

67 PB12 HEX BOLT 5/16-18 X 1-1/4 145 P0440084 FOAM TAPE 3 X 6 X 300MM
68 PWO07 FLAT WASHER 5/16 146 P0442121 VACUUM HOSE CLIP 2-1/2"
69 PNO2 HEX NUT 5/16-18 147 P0637147 PORT PLUG 2"

70 P0637070 HOSE CLAMP 9" 148 P0637148 HOSE CLAMP 2"

71 P0637071 FLEXIBLE DUCT 9 X 25-1/2" 149 P0637149 VACUUM HOSE 2" X 39"

72 P0637072 COLLECTION DRUM LID 150 P0637150 VACUUM MANIFOLD

73V3 |P0441051V3 |DRUM SEAL TYPE-R 2.1M V3.01.12 153 P0637153 CYCLONE VACUUM PORT
77 T20246 DRUM COLLECTION BAG 154 P0440084 FOAM TAPE 3 X 6 X 300MM
78 P0441052 UPPER DRUM 25GAL 155 PB0O7 HEX BOLT 5/16-18 X 3/4
79V2 |P0440052V2 |COLLECTION DRUM 35GAL V2.08.10 156 PWO07 FLAT WASHER 5/16

80 P0441054 DRUM CLAMP 157 P0440092 COLLECTION DRUM VACUUM RING
81 PB04 HEX BOLT 5/16-18 X 3 156 PWO07 FLAT WASHER 5/16

82 PNO2 HEX NUT 5/16-18 159 P0637159 GREEN GROUNDING WIRE 10G 6"
83 P0637083 COLLECTION DRUM LID LATCH

Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.

A




Machine Labels

128
121vV2
132
133
REF PART # DESCRIPTION REF PART # DESCRIPTION
120V2 |P0637120V2 |MACHINE ID LABEL (G0637) 129 [P0637129 MODEL NUMBER LABEL (G0637)
120V2 |P0638120V2 |MACHINE ID LABEL (G0638) 129 [P0638129 MODEL NUMBER LABEL (G0638)
121V2 |P0637121V2 |GENERAL WARNING LABEL 130 [P0637130 HORSEPOWER LABEL (G0637)
122 P0637122 RED HANDLE NOTICE LABEL 130 [P0638130 HORSEPOWER LABEL (G0638)
123 PLABEL-14 ELECTRICITY LABEL 131 [P0637131 CONTROL PANEL LABEL
124 PLABEL-53 DISCONNECT POWER LABEL 131 |P0638131 CONTROL PANEL LABEL
125 PLABEL-12 READ MANUAL LABEL 132 |P0637132 REMOTE CONTROL LABEL
126 PLABEL-59 HANDS/OUTLET LABEL 133 [PPAINT-1 GRIZZLY GREEN TOUCH-UP PAINT
127 PLABEL-82 EYE/LUNG LABEL 134 [PPAINT-11 GRIZZLY PUTTY TOUCH-UP PAINT
128 PLABEL-15 EAR PROTECTION LABEL

AWARNING

Safety labels warn about machine hazards and ways to prevent injury. The owner of this machine
MUST maintain the original location and readability of the labels on the machine. If any label is
removed or becomes unreadable, REPLACE that label before using the machine again. Contact
Grizzly at (800) 523-4777 or www.grizzly.com to order new labels.

-62- ? Model G0637/G0638 (Mfg. Since 04/12)

Download from Www.Somanuals.com. All Manuals Search And Download.



CUT ALONG DOTTED LINE

Grizzly WARRANTY CARD

Industrial, Inc.

Name

Street

City State Zip
Phone # Email Invoice #
Model # Order # Serial #

The following information is given on a voluntary basis. It will be used for marketing purposes to help us develop
better products and services. Of course, all information is strictly confidential.

1. How did you learn about us?
Advertisement Friend Catalog
Card Deck Website Other:

2.  Which of the following magazines do you subscribe to?

Cabinetmaker & FDM Popular Science Wooden Boat

Family Handyman Popular Woodworking Woodshop News
Hand Loader Precision Shooter Woodsmith

Handy Projects in Metal Woodwork

Home Shop Machinist RC Modeler Woodworker West
Journal of Light Cont. Rifle Woodworker’s Journal
Live Steam Shop Notes Other:

Model Airplane News Shotgun News

Old House Journal Today’s Homeowner

Popular Mechanics Wood

3. What is your annual household income?

$20,000-$29,000 $30,000-$39,000 $40,000-$49,000
$50,000-$59,000 $60,000-$69,000 $70,000+
4. What is your age group?
20-29 30-39 40-49
50-59 60-69 70+
5. How long have you been a woodworker/metalworker?
0-2 Years 2-8 Years 8-20 Years 20+ Years
6. How many of your machines or tools are Grizzly?
0-2 3-5 6-9 10+
7. Do you think your machine represents a good value? Yes No
8. Would you recommend Grizzly Industrial to a friend? Yes No

9. Would you allow us to use your name as a reference for Grizzly customers in your area?
Note: We never use names more than 3 times. Yes No

10. Comments:

Download from Www.Somanuals.com. All Manuals Search And Download.



FOLD ALONG DOTTED LINE

“ ‘ ” Place
Stamp

Here

Grizzly

GRIZZLY INDUSTRIAL, INC.
P.O. BOX 2069
BELLINGHAM, WA 98227-2069

FOLD ALONG DOTTED LINE

Send a Grizzly Catalog to a friend:

Name
Street
City State Zip

TAPE ALONG EDGES--PLEASE DO NOT STAPLE

Download from Www.Somanuals.com. All Manuals Search And Download.



WARRANTY AND RETURNS

Grizzly Industrial, Inc. warrants every product it sells for a period of 1 year to the original purchaser from
the date of purchase. This warranty does not apply to defects due directly or indirectly to misuse, abuse,
negligence, accidents, repairs or alterations or lack of maintenance. This is Grizzly’s sole written warranty
and any and all warranties that may be implied by law, including any merchantability or fitness, for any par-
ticular purpose, are hereby limited to the duration of this written warranty. We do not warrant or represent
that the merchandise complies with the provisions of any law or acts unless the manufacturer so warrants.
In no event shall Grizzly’s liability under this warranty exceed the purchase price paid for the product and
any legal actions brought against Grizzly shall be tried in the State of Washington, County of Whatcom.

We shall in no event be liable for death, injuries to persons or property or for incidental, contingent, special,
or consequential damages arising from the use of our products.

To take advantage of this warranty, contact us by mail or phone and give us all the details. We will then
issue you a “Return Number,” which must be clearly posted on the outside as well as the inside of the
carton. We will not accept any item back without this number. Proof of purchase must accompany the
merchandise.

The manufacturers reserve the right to change specifications at any time because they constantly strive to
achieve better quality equipment. We make every effort to ensure that our products meet high quality and
durability standards and we hope you never need to use this warranty.

Please feel free to write or call us if you have any questions about the machine or the manual.

Thank you again for your business and continued support. We hope to serve you again soon.

Download from Www.Somanuals.com. All Manuals Search And Download.



LTI

TOO0L WEBSITE

Buy Direct and Save with Grizzly® — Trusted, Proven and a Great Value!
~Since 1983~

Current Specials!

{Visit Our Website Today For}

ORDER
24 HOURS A DAY!
1-800-523-4777

I AMERICAN
VISA | (MasterCard @
) A — | - PFRES

Download from Www.Somanuals.com. All Manuals Search And Download.



Free Manuals Download Website
http://myh66.com
http://usermanuals.us

http://www.somanuals.com

http://www.4manuals.cc

http://www.manual-lib.com

http://www.404manual.com

http://www.luxmanual.com

http://aubethermostatmanual.com

Golf course search by state

http://golfingnear.com

Email search by domain

http://emailbydomain.com

Auto manuals search

http://auto.somanuals.com

TV manuals search

http://tv.somanuals.com



http://myh66.com/
http://usermanuals.us/
http://www.somanuals.com/
http://www.4manuals.cc/
http://www.manual-lib.com/
http://www.404manual.com/
http://www.luxmanual.com/
http://aubethermostatmanual.com/
http://www.golfingnear.com/
http://emailbydomain.com/
http://auto.somanuals.com/
http://tv.somanuals.com/


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (None)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /UseDeviceIndependentColor
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.01667
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.01667
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (U.S. Web Coated \050SWOP\051 v2)
  /PDFXOutputConditionIdentifier (CGATS TR 001)
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV <>
    /HUN <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName (None)
      /DestinationProfileSelector /WorkingCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks true
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /WorkingCMYK
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


